
CHEMISTRY

BOOKS - A2Z CHEMISTRY (HINGLISH)

THE D AND F BLOCK ELEMENTS

General Physical And Chemical Properties Of D Block

Elements

1. The transition elements have a general electronic

configuration:

A. 

B. 

ns2np6nd1 − 10

(n − 1)d1 − 10ns0 − 2np0 − 6

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PdFxENl6I2pM


C. 

D. None of these

Answer: C

Watch Video Solution

(n − 1)d1 − 10ns1 − 2

2. What will be the charge on  if the megnetic

moment is  ?

A. 

B. 

C. Zero

D. None of these

Fex+

√24

+2

+3

https://dl.doubtnut.com/l/_PdFxENl6I2pM
https://dl.doubtnut.com/l/_T9zyUNnrFZa6


Answer: A

Watch Video Solution

3. Which statement is true about the transitional

elements?

A. They are highly reactive

B. They have low melting point

C. They show low melting point They show variable

oxidation states

D. They are highly electropositive

Answer: C

h id l i

https://dl.doubtnut.com/l/_T9zyUNnrFZa6
https://dl.doubtnut.com/l/_zyOZPdK0AsFx


Watch Video Solution

4. In which of the following paris both the ions are

coloured in aqueous solution? (Atomic number,

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

Sc − 21, Ti = 22, Ni = 28, Cu = 29, Co = 27)

Ni2 + Cu+

Sc3 + Ti3 +

Sc3 + Co2 +

Ni2 + Ti3 +

https://dl.doubtnut.com/l/_zyOZPdK0AsFx
https://dl.doubtnut.com/l/_bPoCCje6hmXi
https://dl.doubtnut.com/l/_Iof6hbrwzYos


5. In a reaction, the ferrous  iron is oxidised to

ferric  ion. The equivalent weight of the ion in

the avbove reaction is equal to

A. The atlic weight

B.  of the atomic weight

C. Half of the atomic weight

D. Twice the atomic weight

Answer: A

Watch Video Solution

(Fe+ + )

(FE + + )

1/5

6. Transition elements exhibit variable valencies because

they release electrons from the following orbits :

https://dl.doubtnut.com/l/_Iof6hbrwzYos
https://dl.doubtnut.com/l/_lalTSqR1w9zZ


A.  orbit

B.  and  orbits

C.  orbit

D.  and  orbits

Answer: D

Watch Video Solution

ns

ns np

(n − 1)d

(n − 1)d ns

7. One of the following metals froms a volatile corbony1

compound and this property is taken advantage of its

extraction. This metal is

A. Iron

B. Cobalt

https://dl.doubtnut.com/l/_lalTSqR1w9zZ
https://dl.doubtnut.com/l/_YJnG6QvP2DD5


C. Nickel

D. Tungsten

Answer: C

Watch Video Solution

8. D bock elements are also knows as transition elements

because their characters are

A. Like that of p-and-d-block elements

B. In between  and p-block elements

C. They are members of  group

D. They are like inactive elements

s

IA

https://dl.doubtnut.com/l/_YJnG6QvP2DD5
https://dl.doubtnut.com/l/_jJ8EEX6dQ8xp


Answer: B

Watch Video Solution

9. Which of the following has the maximum number of

unpaired d-electron?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn2 +

Fe2 +

Ni2 +

Cu2 +

https://dl.doubtnut.com/l/_jJ8EEX6dQ8xp
https://dl.doubtnut.com/l/_NAFhlLRwBAP5


10. A metal ion from the first transition series has a

magnitic moment (calculated) or  How man

unparied electrons are expected to be present in the ion?

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

3.87B. M.

https://dl.doubtnut.com/l/_TS0OVtgUKz7a


11.  absorbs green and yellow region part

of visible light. Then the transmitted colour of the

compound is

A. blue

B. red

C. purple

D. green

Answer: C

Watch Video Solution

[Ti(H2O)6]
3 +

12. Which of the following ions are colourless?

https://dl.doubtnut.com/l/_8p7CFmYuWBB8
https://dl.doubtnut.com/l/_G2sTlxBn3Dqn


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

V 3 +

Mn2 +

Sc3 −

Ti3 +

13. The catalytic activity of the transition metals and their

compound is described to:

A. their chemical reactivity

B. their magnetic behaviour.

https://dl.doubtnut.com/l/_G2sTlxBn3Dqn
https://dl.doubtnut.com/l/_O6jL0noqHMmr


C. their filled d-orbitals

D. their abilitiy to adopt multiple oxidation state and

their complexing ability.

Answer: D

Watch Video Solution

14. The atomic number of an element is 22. The highest

oxidation state exhibited by it in its compound is ---------------

?

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_O6jL0noqHMmr
https://dl.doubtnut.com/l/_v7fe3geUnMVz


D. 4

Answer: C

Watch Video Solution

15. In which of the following the stabiliy of two oxidation

states is correctly represented?

A. 

B. 

C. 

D. 

Answer: C

Fe2 + > Fe3 +

Ti3 + > Ti4 +

Mn2 + > Mn3 +

Cu+ > Cu2 +

https://dl.doubtnut.com/l/_v7fe3geUnMVz
https://dl.doubtnut.com/l/_pqwdUxNdXZ2c


Watch Video Solution

16. Most powerful oxidizing property of manganese is

shown by which of the following oxidation state

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Mn( + 5)

Mn( + 2)

Mn( + 4)

Mn( + 7)

https://dl.doubtnut.com/l/_pqwdUxNdXZ2c
https://dl.doubtnut.com/l/_wOlqhHEwIIux


17. The atomic radii of the elements are almost same of

which series

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li − Be − B

Na − K − Rb

F − C1 − Br

Fe − Co − Ni

18. Which of the following ions has the highest magnetic

moment ?

https://dl.doubtnut.com/l/_3yQjz0IQ0YFX
https://dl.doubtnut.com/l/_zoZkNtQwBEEw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ti3 +

Mn3 +

Sc3 +

Zn2 +

19. Of the following outer lectronic configurations fo

atoms the highest oxdation state is achieved by wbhich

one fo them :

A. 

B. 

(n − 1)d5ns2

(n − 1)d5ns1

https://dl.doubtnut.com/l/_zoZkNtQwBEEw
https://dl.doubtnut.com/l/_utLPVolSRIJJ


C. 

D. 

Answer: A

Watch Video Solution

(n − 1)d8ns2

(n − 1)d3ns2

20. Which of the following represents the electronic

configuration of a transition element?

A. …………………..

B. …………………..

C. …………………..

D. …………………..

1s2, 2s2p6 ns2p3

1s2, 2s2p6 ns2p6

1s2, 2s2p6 ns2p3d10, (n + 1)s2p1

1s2, 2s2p6 ns2p3d3, (n + 1)s2

https://dl.doubtnut.com/l/_utLPVolSRIJJ
https://dl.doubtnut.com/l/_h7UI5XvS14yv


Answer: D

Watch Video Solution

21. Which of the following ions is not amphoteric?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A13 +

Fe3 +

Cr3 +

Zn2 +

https://dl.doubtnut.com/l/_h7UI5XvS14yv
https://dl.doubtnut.com/l/_FsnpYzIFZSy3
https://dl.doubtnut.com/l/_IMRcB2NAxhps


22. Elements which generally exhibit multiple oxidation

states and whose ions are usually coloured are

A. Metalloids

B. Non-metals

C. Transition elements

D. Gases

Answer: C

Watch Video Solution

23. Which in not true for transition elements?

A. They do not form coordinate compounds

https://dl.doubtnut.com/l/_IMRcB2NAxhps
https://dl.doubtnut.com/l/_LLl1laa8Qmh7


B. They show variable valency

C. They form coloured ions

D. They are all metals

Answer: A

Watch Video Solution

24. Variable valency is shown by

A. Typical elements

B. Transition elements

C. Normal elements

D. None of these

https://dl.doubtnut.com/l/_LLl1laa8Qmh7
https://dl.doubtnut.com/l/_CXFEHyRfz4hR


Answer: B

Watch Video Solution

25. Which one of the following shows highest magnetic

moments?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

V 3 +

Cr3 +

Fe3 +

Co3 +

https://dl.doubtnut.com/l/_CXFEHyRfz4hR
https://dl.doubtnut.com/l/_8HTl8St1Jc6P


26. Which of the following oxides is basic?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Mn2O3

MnO

MnO2

Mn2O7

27. Tempered steel is

A. Soft and pliable

https://dl.doubtnut.com/l/_dtRyQPWq4pnq
https://dl.doubtnut.com/l/_BgmvTJn1hG7F


B. Hare and brittle

C. Very solft

D. Neither so hard nor so brittle

Answer: D

Watch Video Solution

28. Which of the following statement is not true?

A. Transtiton elements form the complex compounds

B. Coloured compounds of trasition element are

paramagnetic

https://dl.doubtnut.com/l/_BgmvTJn1hG7F
https://dl.doubtnut.com/l/_dfFh6n7FigZA


C. Colourless compounds of transition elements are

diamagnetic

D. Colourless compounds of transition elements are

paramagnetic

Answer: D

Watch Video Solution

29. Which one of the transittion metal ions is coloured in

aqueous solution?

A. 

B. 

Cu+

Zn2 +

https://dl.doubtnut.com/l/_dfFh6n7FigZA
https://dl.doubtnut.com/l/_EiGipILQknQQ


C. 

D. 

Answer: D

Watch Video Solution

Sc3 +

V 4 +

30. Which of the following species is expected ot show the

highest magnetic moment? (At.Nos.:

)

A. 

B. 

C. 

D. 

Cr = 24, Mn = 25, Co = 27, Ni = 28, Cu = 29

Cr2 +

Cu2 +

Mn2 +

Co2 +

https://dl.doubtnut.com/l/_EiGipILQknQQ
https://dl.doubtnut.com/l/_9P2wqtfkQqCl


Answer: C

Watch Video Solution

31. Which of the following is the correct squence of atomic

weights of given elements?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe > Co > Ni

Co > Ni > Fe

Ni > Co > Fe

Fe > Ni > Co

https://dl.doubtnut.com/l/_9P2wqtfkQqCl
https://dl.doubtnut.com/l/_iMb9EWRSrz5x


32. Identify the transition element

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s2, 2s2, 2p6, 3s6, 3p6, 4s2

1s2, 2s2, 2P 6, 3s2, 3p6, 4d10, 4s24p2

1s2, 2s2, 2p6, 3s2, 3p6, 4d2, 4s2

1s2, 2s2, 2p6, 3s2, 3P 6, 3p6, 3d10, 4s24p1

33. Which of the following ions is paramagnetic?

A. Sc+ +

https://dl.doubtnut.com/l/_DiWAiv3YwGEo
https://dl.doubtnut.com/l/_uaAwu0ivRPzi


B. 

C. 

D. 

Answer: D

Watch Video Solution

Cu+ +

Zn+ +

Ni+ +

34. The tendency of the transition elements to form

coloured compounds is attributed to

A. transtiton of electrons from one atom to the ether.

B. transition of electrons from s-orbitals of the outer

shells to p-orbitals.

https://dl.doubtnut.com/l/_uaAwu0ivRPzi
https://dl.doubtnut.com/l/_wcXFYpp3rcOL


C. d-d transition of electron in las but one shell.

D. none of the reason is correct.

Answer: C

Watch Video Solution

35. Cuprous ion is colourless, while cupric ion is colured

because

A. Both have unparied electrons in d-orbital

B. Cuprous ions has imcomplete d-orbital and cupric

ion has a completed d-orbital

C. Both have half-filled  and d-orbitalsp

https://dl.doubtnut.com/l/_wcXFYpp3rcOL
https://dl.doubtnut.com/l/_uX8xIa9xLUGb


D. Cuprous ion has a completed d-orbital and cupric

ion has an incomplete d-orbital

Answer: D

Watch Video Solution

36. Platinum, palladium, iridium, etc., are called noble

metals because

A. Alfred Noble discovered them

B. They are shining lustrous and pleasing to look at

C. They are inert towards many common reagents

D. They are found in active state

https://dl.doubtnut.com/l/_uX8xIa9xLUGb
https://dl.doubtnut.com/l/_bnym5snulHJh


Answer: C

Watch Video Solution

37. The spin magnetic moment of cobalt in the compound

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Hg[Co(SCN)4]

√3

√15

√8

√24

https://dl.doubtnut.com/l/_bnym5snulHJh
https://dl.doubtnut.com/l/_aMKtCsQU2lYg


38. The valence shell electronic configuration of  ion

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr2 +

3p24s2

4s23d2

4s23d0

4s03d0

39. A transition element  has a configuration  in

its  oxidation state. Its atomic number is

X [Ar]3d4

+3

https://dl.doubtnut.com/l/_0PMzn583ulzT
https://dl.doubtnut.com/l/_ETRY59EZLwRH


A. 19

B. 26

C. 22

D. 25

Answer: D

Watch Video Solution

40. Of the ions  and  [atomic number of 

]

A. Only  is coloured and  and  are

colourless

Zn2, Ni2 + Cr3 +

Zn = 30, Ni = 28, Cr = 24

Ni2 + Zn2 + Cr3 +

https://dl.doubtnut.com/l/_ETRY59EZLwRH
https://dl.doubtnut.com/l/_WIp21pwE8coM


B. All three are colourless

C. All three are coloured

D. Only  is colourless and  and  are

coloured

Answer: D

Watch Video Solution

Zn2 + Ni2 + Cr3 +

41. Which of the following elements does not belong to

the first transition series?

A. 

B. 

Fe

Ag

https://dl.doubtnut.com/l/_WIp21pwE8coM
https://dl.doubtnut.com/l/_KfjYXmBqJDDR


C. 

D. 

Answer: B

Watch Video Solution

V

Cu

42. The ability of d-block elements to form complexes is

due to

A. small and highly charged ions

B. Vacant low energy orbital ot accept 1one pair of

electrons from ligands

C. Both (a) and (b) are correct

https://dl.doubtnut.com/l/_KfjYXmBqJDDR
https://dl.doubtnut.com/l/_tj98iI4O21cE


D. None of the above

Answer: C

Watch Video Solution

43. The ions from among the following which are

colourless are:

A. (i) and (ii) only

B. (i),(ii) and (iii)

C. (iii) and (iv)

D. (ii) and (iii)

Answer: A

https://dl.doubtnut.com/l/_tj98iI4O21cE
https://dl.doubtnut.com/l/_yoHXlFtny2rI


Watch Video Solution

44. Which of the following transition metal ions has least

magnetic moments? 

(i)  (ii)  


(iii)  (iv) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ti4 + Cu+ 1

Co3 + Fe2 +

Co3 +

Fe3 +

Cr2 +

V 3 +

https://dl.doubtnut.com/l/_yoHXlFtny2rI
https://dl.doubtnut.com/l/_paehXmKsHMOC


45. Electronic configurations of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu(Z = 29)

[Ar]3d94s2

[Ar]3d54s2

[Ar]3d104s1

[Ar]3d64s2

46. The aqueous solution containing which one of the

following ions will be colourless 

(Atomic number Sc = 21, Fe = 26, Ri = 22, Mn = 25)

https://dl.doubtnut.com/l/_paehXmKsHMOC
https://dl.doubtnut.com/l/_RIEzxNkkUQ3G
https://dl.doubtnut.com/l/_39o3VmX4soMk


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Mn2 +

Fe2 +

Ti3 +

Sc3 +

47. Which of the following have maximum number of

uparied electrons

A. 

B. 

Co3 +

Fe2 +

https://dl.doubtnut.com/l/_39o3VmX4soMk
https://dl.doubtnut.com/l/_oMkvIyo7QgGr


C. 

D. 

Answer: D

Watch Video Solution

Co2 +

Fe3 +

48.  is red or orange in colour. It is ….oxide

A. Acidic

B. Basic

C. Amphoteric

D. Neutral

Answer: A

V2O5 a/an

https://dl.doubtnut.com/l/_oMkvIyo7QgGr
https://dl.doubtnut.com/l/_WYqT598qf5uu


Watch Video Solution

49. Which of the following shall have the highest value of

magnetic moment?

A.  ion

B.  ion

C.  ion

D.  ion

Answer: C

Watch Video Solution

Zn(II)

Mn(IV )

Fe(II)

Ti(III)

https://dl.doubtnut.com/l/_WYqT598qf5uu
https://dl.doubtnut.com/l/_1tZR6faNiaPS


50. The highest oxidation state is exhibited by the

transition metals with configuration:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(n − 1)d3ns2

(n − 1)d5ns1

(n − 1)d5ns2

(n − 1)d8ns2

51. Transition metals are related to which block

A. s-block

https://dl.doubtnut.com/l/_UeTZFdEcHvge
https://dl.doubtnut.com/l/_VVLZiS2WWeDX


B. d-block

C. p-block

D. None of these

Answer: B

Watch Video Solution

52. Which of the following elements is not an actinide?

A. Terbium

B. Californium

C. Uranium

D. Cruium

https://dl.doubtnut.com/l/_VVLZiS2WWeDX
https://dl.doubtnut.com/l/_aNeOuwZTb416


Answer: A

Watch Video Solution

53. Which of the following general configuration of

outermost shell represents chromium [Cr's atomic

number = 24]?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

d3s2

d6s0

d4s2

d5s1

https://dl.doubtnut.com/l/_aNeOuwZTb416
https://dl.doubtnut.com/l/_BLXHRhjonPAQ


Watch Video Solution

54. Among the following outermost configurations of

transitionn metals, which shows the highest oxidation

state

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3d24s2

3d54s2

3d54s1

3d64s2

https://dl.doubtnut.com/l/_BLXHRhjonPAQ
https://dl.doubtnut.com/l/_7p9e4Z3n6Tvc


55. Complex ion is shown by

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

Cu

Ag

Au

56. Transition elements are frequently used as catalyst

because:

A. or variable oxidationk state

https://dl.doubtnut.com/l/_sZPxFAwuNQro
https://dl.doubtnut.com/l/_oXbYpmhvzhDv


B. of high ionic charge

C. large surface area of reactants

D. of their specific nature

Answer: A

Watch Video Solution

57. Among  and  (At. No. 

, the colourless

species are -

A.  and 

B. 

C.  and 

TiF 2 −
6 , CoF 3 −

6 , Cu2Cl2 NiCl
2 −
4

Ti = 22, Co = 27, Cu = 29, Ni = 28)

TiF 2 −
6 Cu2Cl2

Cu2Cl2

TiF 2 −
6 CoF 3 −

6

https://dl.doubtnut.com/l/_oXbYpmhvzhDv
https://dl.doubtnut.com/l/_m50buKea09vz


D.  and 

Answer: A

Watch Video Solution

CoF 3 −
6 NiCl

2 −
4

58. Which of the following alloys contain only  and ?

A. Bronze

B. Gun metal

C. Brass

D. Bell metal

Answer: C

Watch Video Solution

Cu Zn

https://dl.doubtnut.com/l/_m50buKea09vz
https://dl.doubtnut.com/l/_W8wxDXleO3kx


59. The first ionisation energies of the elements of the

transition series.

A. increases as the atomic number increase.

B. decrease as the atomic number increase.

C. do not show any change as the addition of electrons

takes place in the inner  d-orbitals.

D. increase from  to  and then decrease from 

 to .

Answer: A

Watch Video Solution

(n − 1)

Ti Mn

Mn Cu

https://dl.doubtnut.com/l/_W8wxDXleO3kx
https://dl.doubtnut.com/l/_2WP5rF5G7Gq2


60. Among the following series of transition metals ions,

the one where all metal ions have  electronic

configuration is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3d2

Ti+ , V 2 + , Cr3 + , Mn4 +

Ti+ , V 4 + , Cr6 + , Mn7 +

Ti2 + , V 3 + , Cr2 + , Mn3 +

Ti2 + , V 3 + , Cr4 + , Mn5 +

61. Generally transition metals act as catalyst because of

https://dl.doubtnut.com/l/_I5GbpuJzWgWK
https://dl.doubtnut.com/l/_lro6OQdAby0M


A. free valenies

B. large surface area

C. upaired d-electrons

D. All of these

Answer: D

Watch Video Solution

62. Europium is

A. s-block element

B. p-block element

C. f-block element

https://dl.doubtnut.com/l/_lro6OQdAby0M
https://dl.doubtnut.com/l/_76OXLoSJYL6J


D. d-block element

Answer: C

Watch Video Solution

63. Which of the following is a colourless ion?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Zn+ 2

Fe+ 3

Ti+ 3

Cu+ 2

https://dl.doubtnut.com/l/_76OXLoSJYL6J
https://dl.doubtnut.com/l/_3v036SQVGPxj


64. On the basis of position in the electrolchemical series,

the metal which does not displace  from water and acid

is 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2

:

Ba

Al

Pb

Hg

https://dl.doubtnut.com/l/_3v036SQVGPxj
https://dl.doubtnut.com/l/_Pu5ZbhsSGmsF


65. Which has the maximum ferromagnetic character?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ni

Co

Fe

Pb

66.  electronic configuration exhibits

A. 

3d104s0

Hg+ +

https://dl.doubtnut.com/l/_GmCdXLDEr94J
https://dl.doubtnut.com/l/_QSky14SLskdw


B. 

C. 

D. 

Answer: D

Watch Video Solution

Cu+ +

Cd + +

Zn+ +

67. Transition metal with low oxidation state will act as:

A. a base

B. an acid

C. both (a) and (b)

D. None of these

https://dl.doubtnut.com/l/_QSky14SLskdw
https://dl.doubtnut.com/l/_DJc4lH0ScrgI


Answer: B

Watch Video Solution

68. The names transition and inner transition metals are

used to indicate the element of:

A. d-block elements only

B. f-block elements only

C. p-and-d-blocks element respectively

D. d-and f-blocks elements respectively

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DJc4lH0ScrgI
https://dl.doubtnut.com/l/_auD85MlzmHQf


69. Which of the following will have standard oxidation

potential less than ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SHE

Zn

Fe

Cu

Ni

70. Which one of the following is an example of non-

typical transition elements?

https://dl.doubtnut.com/l/_XzpMPvxG1u7a
https://dl.doubtnut.com/l/_C6iT0ioJNNl5


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li, K, Na

Zn, Cd, Hg

Be, A1, Pb

Ba, Ca, Sr

71. The metal ion which does not form coloured

compound is

A. Chromium

B. Zine

https://dl.doubtnut.com/l/_C6iT0ioJNNl5
https://dl.doubtnut.com/l/_ZroB7GQjlqkl


C. Manganese

D. Iron

Answer: B

Watch Video Solution

72. Which metal does not give the following reaction

 water or steam  oxide 

A. Magnesium

B. Iron

C. Sodium

D. Mercury

M + → +H ↓

https://dl.doubtnut.com/l/_ZroB7GQjlqkl
https://dl.doubtnut.com/l/_4lplTfUYwf2X


Answer: D

Watch Video Solution

73. The electronic configuration 

corresponds to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1s2, 2s2, p6, 3s2, p6, d6

Fe2 +

Mn2 +

Co2 +

Ge

https://dl.doubtnut.com/l/_4lplTfUYwf2X
https://dl.doubtnut.com/l/_s09ZChOCe14b


74. The correct statement(s) from among the following

: 


(i) all the  and -block elements are metals 


(ii) all the  and -block elements form coloured ions 


(iii) all the - and -block elments form paramagnetic ions

A. (i) only

B. (i) and (ii)

C. (ii) and (iii)

D. All of these

Answer: A

Watch Video Solution

is/are

d f

d f

d f

https://dl.doubtnut.com/l/_ceRbADyGU8IB
https://dl.doubtnut.com/l/_RkkljXuQQY2D


75. That the electronic configuration of ytterbium

 is  and of lutetium  is 

 can be explained on the basis of

A. the extra stability of the half-filled orbitals

B. the extra stability of the completely filled orbitals

C. the usual rules for the arrangement of electron in

their orbits

D. None of these

Answer: C

Watch Video Solution

(Z = 70) 4f&(14)5s2 (Z) = 71)

4f 145d16s2

https://dl.doubtnut.com/l/_RkkljXuQQY2D


76. Which of the following ions gives coloured solution?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Fe+ +

Zn+ +

Ag+ +

Cu+ +

77. The magnetic moment of metal ion of first transition

series is . Therefore, it will have unpaied electrons

A. 2

2.83BM

https://dl.doubtnut.com/l/_AZRIyxk7r8YA
https://dl.doubtnut.com/l/_dBqaufjPagA1


B. 4

C. 3

D. 6

Answer: A

Watch Video Solution

78. The oxidation number of iron in potassium

ferrocyanide is

A. 

B. 

C. 

+4

+3

+2

https://dl.doubtnut.com/l/_dBqaufjPagA1
https://dl.doubtnut.com/l/_mfu89K6KKpmt


D. Zero

Answer: C

Watch Video Solution

79. Mercury is transported in metal containers made of

A. Silver

B. Iron

C. Lead

D. Aluminium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mfu89K6KKpmt
https://dl.doubtnut.com/l/_61k4uBpMAQNI


Kmno 4 And K 2 Cr 2 O 7

1. The number of mole of  that will be needed to

react completely with one mole of ferrous oxalate in acidic

solution is:

A. 

B. 

C. 

D. 1

Answer: A

Watch Video Solution

KMnO4

3/5

2/5

4/5

https://dl.doubtnut.com/l/_61k4uBpMAQNI
https://dl.doubtnut.com/l/_OjIvkxU6gYDU


Kmno 4 And K 2 Cr 2 O 8

Kmno 4 And K 2 Cr 2 O 9

1. In following reaction

A. 2 and 16

B. 16 and 2

C. 8 and 16

D. 5 and 2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OjIvkxU6gYDU
https://dl.doubtnut.com/l/_YKrrk3lNIWxU


Kmno 4 And K 2 Cr 2 O 10

1. The yellow colour of chromates changes to orange on

acidification due to the formation of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cr3 +

Cr2O3

Cr2O
2 −
7

CrO4 −

https://dl.doubtnut.com/l/_Fn2ldlcpLaIq
https://dl.doubtnut.com/l/_JOes3u6F43f5


Kmno 4 And K 2 Cr 2 O 11

1. Bullet-proof steel alloy is prepared by using

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Sc

Ni

Zr

Zn

1.  with  in the pressence of oxidising agents

gives

CuC12 HC1

https://dl.doubtnut.com/l/_JOes3u6F43f5
https://dl.doubtnut.com/l/_8SG8MN89hwUd


Kmno 4 And K 2 Cr 2 O 12

A. 

B. 

C. Hydrogen gas

D. Chlorine gas

Answer: A

Watch Video Solution

CuC12

H2CuC12

1.  on heating with aqueous  gives

A. 

H2Cr2O7 NaOH

Cr
2 −
4

https://dl.doubtnut.com/l/_8SG8MN89hwUd
https://dl.doubtnut.com/l/_1WXCuRzvuxmP


Kmno 4 And K 2 Cr 2 O 13

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cr(OH)3

Cr2O
2 −
4

Cr(OH)2

1.  react with oxalic acid according to the

equation, 

, here  of  is equivalemt to

KMnO4

2MnO
−
4 + 5C2O

2 −
4 + 16H + → 2Mn2 + + 10CO2 + 8H2O

20ml 0.1MKMnO4

https://dl.doubtnut.com/l/_1WXCuRzvuxmP
https://dl.doubtnut.com/l/_MQI5OcE9olbx


Kmno 4 And K 2 Cr 2 O 14

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

20mlof0.5MC2H2O4

50mlof0.1MC2H2O4

20mlof0.5MC2H2O4

20mlof0.1MC2H2O4

1. If  is the molecular weight of , its equivalent

weight will be when it is converted into 

A. 

M KMnO4

K2MnO4

M /7

https://dl.doubtnut.com/l/_MQI5OcE9olbx
https://dl.doubtnut.com/l/_1aQhYwKwGbgI


Kmno 4 And K 2 Cr 2 O 15

B. 

C. 

D. 

Answer: D

Watch Video Solution

M /3

M /5

M

1. To support tungsten filament in electric bulb, the steel

used is

A. 

B. 

Cr

Ni

https://dl.doubtnut.com/l/_1aQhYwKwGbgI
https://dl.doubtnut.com/l/_voDGkqmkQP31


Kmno 4 And K 2 Cr 2 O 16

C. 

D. 

Answer: D

Watch Video Solution

M

Mo

1.  is intense pind colour, though  is in 

oxidation state. It is due to

A. Oxygen gives colour to it

B. None of the above to it

MnO
−
4 Mn ( + 7)

https://dl.doubtnut.com/l/_voDGkqmkQP31
https://dl.doubtnut.com/l/_PTmzGwR08qaN


Kmno 4 And K 2 Cr 2 O 17

C. charge transfer when  gives its electron to

oxygen

D. Character transfer when oxygen gives its electron to

 making it  and hence coloured

Answer: C

Watch Video Solution

Mn

Mn Mn( + V I)

1. Potassium permanganate acts as an oxidant in neutral,

alkaline as well as acidic media. The final product obtained

from it in three condition are respectively:

https://dl.doubtnut.com/l/_PTmzGwR08qaN
https://dl.doubtnut.com/l/_vQ1Zwu3zW6pE


Kmno 4 And K 2 Cr 2 O 18

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO2, MnO2, Mn2 +

MnO
2 −
4 , Mn3 + , Mn2 +

Mn2, MnO
2 −
4 , Mn3 +

Mn, MnO4, Mn3 +

1.  on reduction in acidic medium froms

A. 

MnO
2 −
4

MnO4

https://dl.doubtnut.com/l/_vQ1Zwu3zW6pE
https://dl.doubtnut.com/l/_J7NB2K7iPLzu


Kmno 4 And K 2 Cr 2 O 19

B. 

C. 

D. 

Answer: B

Watch Video Solution

Mn+ +

MnO
2 −
4

Mn

1. Acidified solution of chromic acid on treatment with

hydrogen peroxide yields

A. 

B. 

CrO3 + H2O + O2

CrO5 + H2O

https://dl.doubtnut.com/l/_J7NB2K7iPLzu
https://dl.doubtnut.com/l/_qLAhqt8ysHIo


Kmno 4 And K 2 Cr 2 O 20

C. 

D. 

Answer: B

Watch Video Solution

Cr2O3 + H2O + O2

H2Cr2O7 + H2O + O2

1. Which of the statement is not correct?

A. Potassium permanganate is powerful oxidising

substane

https://dl.doubtnut.com/l/_qLAhqt8ysHIo
https://dl.doubtnut.com/l/_F4jtUErOhluu


Kmno 4 And K 2 Cr 2 O 21

B. Potassium is a weaker oxidising substnace than

potassium dichromate

C. Potassium permanganate is a stronger oxidising

substance the potassium dichromate

D. Potassium dichromate oxidises a scondary alcohol

into a kenton

Answer: B

Watch Video Solution

1. The formula of corrosive sublimate is

https://dl.doubtnut.com/l/_F4jtUErOhluu
https://dl.doubtnut.com/l/_yn7h6QLqs0z0


Kmno 4 And K 2 Cr 2 O 22

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HgC12

HgC12

Hg2O

Hg

1. In acidic medium one mole of  accepts how many

moles of electrons in a redox process?

A. 1

MnO
−
4

https://dl.doubtnut.com/l/_yn7h6QLqs0z0
https://dl.doubtnut.com/l/_gqTcQcFyYlF2


Kmno 4 And K 2 Cr 2 O 23

B. 3

C. 5

D. 6

Answer: C

Watch Video Solution

1. Manganese show oxidation state from  to . The

most oxidizing state known in aqueous solution is

A. 

B. 

+2 +7

+7

+4

https://dl.doubtnut.com/l/_gqTcQcFyYlF2
https://dl.doubtnut.com/l/_VOKZ6uMj6vxR


Kmno 4 And K 2 Cr 2 O 24

C. 

D. 

Answer: A

Watch Video Solution

+3

+2

1. In acidic medium potassium dichromate acts as on

oxidant according to the equation, 

. What is the

equivalent weight of ? (mol. 

A. 

Cr2O + 14H + + 6e− → 2Cr3 + + 7H2O

K2Cr2O7 Wt. = M)

M

https://dl.doubtnut.com/l/_VOKZ6uMj6vxR
https://dl.doubtnut.com/l/_hLj48d1V6vXe


Kmno 4 And K 2 Cr 2 O 25

B. 

C. 

D. 

Answer: D

Watch Video Solution

M /2

M /3

M /6

1. Acidified potassium dichromate on reacting with a

suplhite is reduced to

A. 

B. 

CrO2C12

CrO
2 −
4

https://dl.doubtnut.com/l/_hLj48d1V6vXe
https://dl.doubtnut.com/l/_2sruzSaE6WbG


Kmno 4 And K 2 Cr 2 O 26

C. 

D. 

Answer: C

Watch Video Solution

Cr3 +

Cr2 +

1. The product of oxidation of  ion by  in

alkaline medium is

A. 

B. 

C. 

I − MnI
2 −
4

I2

IO1 −
3

IO
−
4

https://dl.doubtnut.com/l/_2sruzSaE6WbG
https://dl.doubtnut.com/l/_8Xwgg19TYzvd


Kmno 4 And K 2 Cr 2 O 27

D. 

Answer: B

Watch Video Solution

I −
3

1. An explosion takes place when conc.  is added to 

. Which of the following is formed?

A. 

B. 

C. 

D. 

H2SO4

KMnO4

Mn2O7

MnO2

MnSO4

Mn2O3

https://dl.doubtnut.com/l/_8Xwgg19TYzvd
https://dl.doubtnut.com/l/_4jimF8oFz0du


Kmno 4 And K 2 Cr 2 O 28

Answer: A

Watch Video Solution

1. Railway wagon axles are made by heating rods of iron

embedded in charcoal powerder. The process is known as

A. Case hardening

B. Sherardizing

C. Annelaing

D. Tempering

https://dl.doubtnut.com/l/_4jimF8oFz0du
https://dl.doubtnut.com/l/_Rlog1jxFjw9q


Kmno 4 And K 2 Cr 2 O 29

Answer: A

Watch Video Solution

1. The correct formula of permaganic acid is

A. 

B. 

C. 

D. 

Answer: A

W h Vid S l i

HMnO4

HMnO5

H2MnO4

H2MnO3

https://dl.doubtnut.com/l/_Rlog1jxFjw9q
https://dl.doubtnut.com/l/_FaugYXpZ92Re


Kmno 4 And K 2 Cr 2 O 30

Watch Video Solution

1. When  reacts with acidified 

A.  is oxidised and  is reduced

B. Only  is oxidised

C. Only  is oxidised

D. None of these

Answer: A

Watch Video Solution

KMnO4 FeSO4

FeSO4 KMnO4

KMnO4

FeSO4

https://dl.doubtnut.com/l/_FaugYXpZ92Re
https://dl.doubtnut.com/l/_D1V54M4Kwn9H


Kmno 4 And K 2 Cr 2 O 31

Kmno 4 And K 2 Cr 2 O 32

1. Acidified potassium permanganate soultion is

decoloursied by

A. Bleaching powder

B. White vitriol

C. Mohr's slat

D. Microcosmic salt

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YWIt1mgIal0r


Kmno 4 And K 2 Cr 2 O 33

1. The solubility of silver bromide in hypo solution due to

the formation of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Ag(S2O3)] − 3

Ag2SO3

[Ag(S2O3)] −

Ag2S2O3

https://dl.doubtnut.com/l/_w8gROwb1acND


Kmno 4 And K 2 Cr 2 O 34

1. Brass in an ally of

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

Zn Sn

Zn Cu

Cu, Zn Sn

Cu Sn

https://dl.doubtnut.com/l/_d35MjDcysn14


Kmno 4 And K 2 Cr 2 O 35

1. Acidified potassium dichromate is treated with

hydrogen sulphide. In the reactiion, the oxidation number

of chromium

A. Increases from  to 

B. decreases from  to 

C. Remains unchanged

D. Decreases from  to 

Answer: B

Watch Video Solution

+3 +6

+6 +3

+6 +2

https://dl.doubtnut.com/l/_Ti25y1S9WIcm
https://dl.doubtnut.com/l/_gk9Kj0OLLxvF


Kmno 4 And K 2 Cr 2 O 36

1. In photography, sodium, thisulphate is used as

A. Complexing agent

B. Oxidising agent

C. Reducing agent

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gk9Kj0OLLxvF


Kmno 4 And K 2 Cr 2 O 37

1. Which of the following statement is about 

sturcture?

A. It has neither  bonds nor  bonds

B. It has one  bond and seven  bonds

C. It has one  bond and six  bonds

D. It has no  bonds and has six  bonds

Answer: A

Watch Video Solution

Cr2O
−
7

Cr − Cr O − O

Cr − Cr Cr − O

Cr − Cr O − O

Cr − Cr O − O

https://dl.doubtnut.com/l/_Iun5rHLtuFwk


Kmno 4 And K 2 Cr 2 O 38

1. When  reacts with acidified 

A. Only  is oxidised

B. Only  is oxidised

C.  is oxidised  and is reduced

D. None of these

Answer: C

Watch Video Solution

KMnO4 FeSO4

FeSO4

KMnO4

FeSO4 KMnO4

https://dl.doubtnut.com/l/_NgCADQgWFAgZ


Kmno 4 And K 2 Cr 2 O 39

1. When  is subjected to heat, compounds

formed are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(NH4)2Cr2O7

NH3, Cr2O3

H2O, (NH4)2CrO4

N2, Cr2O3

CrO5

https://dl.doubtnut.com/l/_ueEAQ2UVOSu1


Kmno 4 And K 2 Cr 2 O 40

1. . In the above

reaction  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4K2Cr2O7
heat
−−→ 4K2CrO4 + 3O2 + X

X

CrO3

Cr2O7

Cr2O3

CrO5

https://dl.doubtnut.com/l/_MUKE5d441hRA


1. Which of the following statements is corrected about

equivalent weight of ?

A. It is one third of its molecular weightin alkaline

B. It is one fifth of its molecular weight in alkaline

medium

C. It is equal to its molecular weight in acidic medium

D. It is one third of its molecular weight in acidic

medium

Answer: A

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_xGeoBhQlsD1t


Kmno 4 And K 2 Cr 2 O 41

Kmno 4 And K 2 Cr 2 O 42

1. The number of moles of  reduced by  of 

 ions is

A. 

B. 3

C. 1.6

D. 6

Answer: A

Watch Video Solution

K2Cr2O7 1mol

Sn2 +

1/3

https://dl.doubtnut.com/l/_Q9ntkQfpMv5u


Kmno 4 And K 2 Cr 2 O 43

1. Which one of the following is reduced by hydrogen

peroxide in acid medium?

A. Potassium permanganate

B. Potassium iodide

C. Ferrous sulpate

D. Potassium ferrocyanide

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qOBBFFB1Vjpv


Kmno 4 And K 2 Cr 2 O 44

1. Which of the following oxides of manganes is

amphoteric?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO2

Mn2O3

Mn2O7

MnO

https://dl.doubtnut.com/l/_2KYuQp2a6RUr


Kmno 4 And K 2 Cr 2 O 45

1. Which one of the following oxides is ionic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO

Mn2O7

CrO3

P2O5

https://dl.doubtnut.com/l/_687plT9RO61Z


Kmno 4 And K 2 Cr 2 O 46

1. Ammonium dichromate is used in some fireworks. The

green-coloured powder blown in the air is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cr

CrO3

Cr2O3

CrO(O2)

https://dl.doubtnut.com/l/_YQknqIkF0wbF


Kmno 4 And K 2 Cr 2 O 47

1.  in basic medium is reduced to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KMnO4

K2MnO

Mn(OH)2

MnO2

Mn2 +

https://dl.doubtnut.com/l/_PjnIWoBpKkXY


Kmno 4 And K 2 Cr 2 O 48

1. In alkaline medium ,  reacts as follows 


 


Therefore, the equivalent mass of  will be

A. 31.5

B. 52.7

C. 72

D. 158

Answer: D

Watch Video Solution

KMnO4

2KMnO4 + 2KOH → 2K2MnO4 + H2O + O

KMnO4

https://dl.doubtnut.com/l/_7CQIkQsAyyUf
https://dl.doubtnut.com/l/_osnHUlT8mvGF


Kmno 4 And K 2 Cr 2 O 49

1. The colour of  changes from red-orange to

lemon-yellow on treatment with , because of:

A. The reduction of  to 

B. The formation of chromium hydroxided

C. The conversion of dichromate to chromate

D. The oxidation of potassium hydroxide to potassium

peroxide

Answer: C

Watch Video Solution

K2Cr2O7

KOH ( aq . )

CrV I CrIII

https://dl.doubtnut.com/l/_osnHUlT8mvGF
https://dl.doubtnut.com/l/_XFtp2mHRUUsp


Kmno 4 And K 2 Cr 2 O 50

1. Oh heating pyrolusite with  in presence of air we

get

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KOH

KMnO4

K2MnO4

Mn(OH)2

Mn3O4

https://dl.doubtnut.com/l/_XFtp2mHRUUsp


Kmno 4 And K 2 Cr 2 O 51

1. Equivalent weight of  acting as an oxidant in

acidic medium is

A. Molecular weight of 

B.  Molecular weight of 

C.  Molecular weight of 

D.  Molecular weight of 

Answer: D

Watch Video Solution

KMnO4

KMnO4

×
1

2
KMnO4

×
1

3
KMnO4

×
1

5
KNnO4

https://dl.doubtnut.com/l/_w0jOncoqe0Wg


Kmno 4 And K 2 Cr 2 O 52

1. Manganese achieves its hightest oxidation state in its

compound

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MnO3

Mn3O4

KMnO4

K2MNO4

https://dl.doubtnut.com/l/_8NMHlV177ClB


Kmno 4 And K 2 Cr 2 O 53

1. In which of the following ionic radii of chromium would

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K2CrO4

CrO2

CrC12

CrF2

1. Acidified is decolourized byKMnO4

https://dl.doubtnut.com/l/_MW3MGkMY8Jvi
https://dl.doubtnut.com/l/_VlpdSndsaEvk


Kmno 4 And K 2 Cr 2 O 54

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Br2

O3

HC1

Br

1. In the reaction, 

 the

reduction product is

KNmO4 + 16HC1 → 5C12 + 2KC1 + 8H2O

https://dl.doubtnut.com/l/_VlpdSndsaEvk
https://dl.doubtnut.com/l/_giUghDQBnW5t


Kmno 4 And K 2 Cr 2 O 55

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C12

MnC12

H2O

KC1

1.  gives red ppt. with.

A. 

AgNO3

K2CrO4

https://dl.doubtnut.com/l/_giUghDQBnW5t
https://dl.doubtnut.com/l/_l7BNpyu5ZgIo


Lanthanides And Actinides

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaBr

NaNO3

K

1. The -block elements of the periodic table contains

those element in which

A. Only  orbitals are progressively filled in 6th period.

B. only  orbtials are progressively filled in 7th period.

f

4f

5f

https://dl.doubtnut.com/l/_l7BNpyu5ZgIo
https://dl.doubtnut.com/l/_PU2xZjYKXpBK


C.  and  orbitals are progressively filled in 6th and

7th periods respectively.

D. None of these

Answer: C

Watch Video Solution

4f 5f

2. Set of continuos atomic number of elements are

present in the same group as well as same period.

A. 89,90,91,92

B. 56,57,58,59

C. 68,69,70,71

https://dl.doubtnut.com/l/_PU2xZjYKXpBK
https://dl.doubtnut.com/l/_0L4DCMEAziYw


D. 

Answer: C

Watch Video Solution

101, 102, 103, 104

3. Across the lanthanide series, the basicity of the

lanthanoid hydroxides:

A. increase

B. Decreases

C. first increases and then decreases

D. does not change

Answer: B

https://dl.doubtnut.com/l/_0L4DCMEAziYw
https://dl.doubtnut.com/l/_HdAVZjDArRuI


Watch Video Solution

4. The radius of  (at no 57) is . What may be the

radius of (at no.71)?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

La+ 1.06Å

Lu3 +

1.6Å

0.85Å

1.06Å

1.4Å

https://dl.doubtnut.com/l/_HdAVZjDArRuI
https://dl.doubtnut.com/l/_RjN5yh0wG0LW


5. Misch metal is

A. am alloy o flanthanide and copper

B. an alloy of lanthanide and nickel

C. an alloy of lanthanide iron carbon

D. an alloy of calcium and copper

Answer: C

Watch Video Solution

6.  ion of which has half-filled  subshell?

A. 

+4 4f

Nd

https://dl.doubtnut.com/l/_TaZ22jqGYNP8
https://dl.doubtnut.com/l/_l8bk8sQ38pj5


B. 

C. 

D. 

Answer: B

Watch Video Solution

Tb

Sc

Tu

7. The main reason for larger number of oxidation state

exhibited by the actinides than the corresponding

lanthanides, is

A. lesser energy difference between  and  orbitals

than between  and -orbitals

B. larger atomic size of actinides than the lanthanides

5f 6d

4f 5d

https://dl.doubtnut.com/l/_l8bk8sQ38pj5
https://dl.doubtnut.com/l/_4dkNsmZUFyX3


C. more energy difference between  and  orbitals

than between  and -orbitals

D. greater reactive nature of the actinides than the

lanthanides

Answer: A

Watch Video Solution

5f 6d

4f 5d

8. An alloy of lanthanides

A. type metal

B. nichrome

C. wood metal

https://dl.doubtnut.com/l/_4dkNsmZUFyX3
https://dl.doubtnut.com/l/_AXstXXjB3bDV


D. misch metal

Answer: D

Watch Video Solution

9. The lanthanide contraction is responsible for the fact

that

A.  and  have about the same radius

B.  and  have similar oxidation state

C.  and  have about the same radius

D.  and  ahave same oxidation state

Answer: C

Zr Y

Zr N /b

Zr Hf

Zr Ce

https://dl.doubtnut.com/l/_AXstXXjB3bDV
https://dl.doubtnut.com/l/_n9UHkoH9dkQd


Watch Video Solution

10. Across the lanthanide series, the basicity of the

lanthanoid hydroxides:

A. first decreases and then increases

B. decreases

C. increases

D. first increase and then decreases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_n9UHkoH9dkQd
https://dl.doubtnut.com/l/_RfQNYDOEwgJD


11. Lanthanides and actinides resemble in

A. electronic configuration

B. oxidation state

C. ionization energy

D. fromation of complexes

Answer: A

Watch Video Solution

12. Lanthanides contraction cause.

https://dl.doubtnut.com/l/_zpZmHfHQMq1t
https://dl.doubtnut.com/l/_z5noSmiJfs5y


A. small decrease in stantard electrode potential value

of lanthanides

B. small decrease in basic strength of oxide of

lanthanides

C. samll variation in chemical properites of lanthanides

D. samll increase in electronegativities of lanthanides

Answer: D

Watch Video Solution

13. The speration of lanthanides by ion exchanges method

is based on

https://dl.doubtnut.com/l/_z5noSmiJfs5y
https://dl.doubtnut.com/l/_GZ7FyrsY5oVL


A. sizes of the ions

B. oxidation state of the ions

C. the solubility of their nitrates

D. basicity of hydroxides of landthanides

Answer: A

Watch Video Solution

14. The radiocative lanthanide is

A. ytterbium 

B. iron 

C. promethium 

(Y b)

(Fe)

(Pm)

https://dl.doubtnut.com/l/_GZ7FyrsY5oVL
https://dl.doubtnut.com/l/_8Q0iaHL7jNVK


D. copper 

Answer: C

Watch Video Solution

(Cu)

15. Complete the following reaction

A. 

B. 

ln2 O3, H2, ln(OH)3 + H2

lnO3 + H2, ln2 O3, H2

https://dl.doubtnut.com/l/_8Q0iaHL7jNVK
https://dl.doubtnut.com/l/_Ju8Imj9IDOdI


C. 

D. 

Answer: B

Watch Video Solution

H2, ln2 O3, ln(OH)3 + H2

ln(OH)3 + H2, lnO2, H2

16. The pair of lanthanides with the highest third

ionization energy is

A.  and 

B.  and 

C.  and 

D.  and 

Lu Y b

Eu Gd

Eu Y b

Dy Y b

https://dl.doubtnut.com/l/_Ju8Imj9IDOdI
https://dl.doubtnut.com/l/_rkD2FFYCtNDp


Answer: C

Watch Video Solution

17. All actinods have high desities except

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

Th Pa

Am Cm

Th Am

Pa Cm

https://dl.doubtnut.com/l/_rkD2FFYCtNDp
https://dl.doubtnut.com/l/_Pgs9S3umQCrc
https://dl.doubtnut.com/l/_6DkpXsPqo1ma


18. Which one of the following is an electronic

configuration of thorium?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Rn]5f 26d07s2

[Rn]5f 16d17s2

[Rn]5f 06d27s2

[Rn]5f 26d27s2

19. Consider the following statement, 

(I) The size of the lanthanide  ions decreases s the

atomic number o increases. 


M 3 +

M

https://dl.doubtnut.com/l/_6DkpXsPqo1ma
https://dl.doubtnut.com/l/_VRSbTdSDASnp


(II) Electoronic spectra of lanthanide show very broad

bands. 

(III) As wihth transition metal, coordination number 6 is

very common in lanthanide complexes.

A. I only

B. I and II

C. I and III

D. III only

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VRSbTdSDASnp


20. The actinoids exhibit, more member of oxidation

states in general than the lanthanoids. This is because

A. the actinides are more reactive than the lanthanides

B. the -orbits are more buried than the -orbits

C. there is a similarity between and -orbits in their

angular part of the wave function.

D. the -orbits extend farther from the nucleus than

the -orbitals.

Answer: D

Watch Video Solution

5f 4f

4f 5f

5f

4f

https://dl.doubtnut.com/l/_qyMVEFMDs1YD


21. Which of the following factor may be regarded as the

main cause of lanthanide contraction?

A. Poor shielding of -electrons in compare to other

electrons in the sub-shell

B. Effective shielding of one of the -electrons by

another in the sub-shell

C. Poorer shielding of  electron by -electrons.

D. Greater shielding of  electrons by `5f-electron.

Answer: A

Watch Video Solution

4f

4f

5d 4f

5d

https://dl.doubtnut.com/l/_AAo7H1Dx27bI


22. In which  subshell is half-filled?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

5f

Am Cm

Cm Bk

Cm No

No Am

23. The actinides showing  oxidation state are:

A. 

+7

U, Np

https://dl.doubtnut.com/l/_6wrQgRXnzQ9I
https://dl.doubtnut.com/l/_biTSIL9YG5UJ


B. 

C. 

D. 

Answer: C

Watch Video Solution

Pu, Am

Np, Pu

Am, Cm

24. Which of the following is not an actinide?

A. Californium

B. Uranium

C. Curium

D. Rutherfordium

https://dl.doubtnut.com/l/_biTSIL9YG5UJ
https://dl.doubtnut.com/l/_CkUiiE0DDmAI


Answer: D

Watch Video Solution

25. Which of the following statements is not correct?

A.  is less basic than 

B. In lanthanide series, ionic radius of  ions

decreases

C.  is actually an elements of transition series rather

than lanthanide series

D. Atomic radii of  and  are same because of

lanthanide contraction

La(OH)3 Lu(OH)3

ln3 +

La

Zr Hf

https://dl.doubtnut.com/l/_CkUiiE0DDmAI
https://dl.doubtnut.com/l/_0GuUVtjJlTYs


Answer: A

Watch Video Solution

26. Which of the following elements shows maximum

number of different oxidation states in its compounds ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Gd

Eu

Am

La

https://dl.doubtnut.com/l/_0GuUVtjJlTYs
https://dl.doubtnut.com/l/_j4PjLC7ZCBX5


27. Gadolinium  has  electronic

configuration outside the [Xe] core. Find spin magnetic

moment of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(Gd) 4f 75d16s2

Gd3 +

√63B. M

√35B. M

√48B. M

√24B. M

28. Which of the following elements is not an actinide?

https://dl.doubtnut.com/l/_PJGHd5EZUTpy
https://dl.doubtnut.com/l/_qC2uDGeqQc9H


A. Curium

B. Californium

C. Uranium

D. Terbium

Answer: D

Watch Video Solution

29. Which of the following graphs shown correct trends in

the size of  ions of lanthanides?

A. 

+3

https://dl.doubtnut.com/l/_qC2uDGeqQc9H
https://dl.doubtnut.com/l/_ob7SjWcyp5ta


Section B Assertion Reasoning

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ob7SjWcyp5ta
https://dl.doubtnut.com/l/_ZTkoW0WKdL74


1. Assertion: Transitio metals show variable valence. 

Reason : Due to a large energy difference bteween the 

and  electrons.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

ns2

(n − 1)d

https://dl.doubtnut.com/l/_ZTkoW0WKdL74
https://dl.doubtnut.com/l/_E2Vu8ZP5eob6


2. Assertion : Copper metal is turned green when exposed

to atmospheric  and moisture. 


Reason: Copper gets covered with a green layer of basic

copper carbonate.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_E2Vu8ZP5eob6


3. Assertion : Ammoniacal silver nitrate converts glucose

to gluconic acid and metallic is precipitated. 

Reason : Glucose acts as a week reducing is precipitated.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_E2Vu8ZP5eob6
https://dl.doubtnut.com/l/_VGY6fcSLKpxz


4. Assertion : The aqueous solution of  is basic in

nature . 

Reason :  hydrolyses in water.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

FeCl3

FeC13

https://dl.doubtnut.com/l/_VGY6fcSLKpxz
https://dl.doubtnut.com/l/_vMCtS9BVCqND


5. Assertion :  dissolves in  solution. 

Reason: Due to formation of a complex.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

AgC1 NH4OH

https://dl.doubtnut.com/l/_vMCtS9BVCqND
https://dl.doubtnut.com/l/_mBrAoqXjJMUP
https://dl.doubtnut.com/l/_O3WWv720Aco1


6. Assertion : The lowest oxide of a transition metal (say,

chromium, atomic number 24) is basic whereas the

highest oxide is usually acidic. 

Reason:  is amphoteric in nature.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

Cr2O3

https://dl.doubtnut.com/l/_O3WWv720Aco1


7. Assertion : In acid solution, permanganate is reduced to

 by an excess of reducing agent. 


Reason :  reduced in  in acidic medium and

the product in the presence of an excess of permanganate

is .

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Mn2 +

MnO
−
4 Mn2 +

MnO2

https://dl.doubtnut.com/l/_O3WWv720Aco1
https://dl.doubtnut.com/l/_1zLZdyYL9LoG


Answer: B

Watch Video Solution

8. Assertion : Pure iron is not used for making tools and

machines. 

Reason : Pure iron is hard.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

https://dl.doubtnut.com/l/_1zLZdyYL9LoG
https://dl.doubtnut.com/l/_pp0k2h4zS8a1


Answer: C

Watch Video Solution

9. Assertion : Solution of  in water is intensely

electrons. 

Reason : Oxidation state of  in  is .

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Na2CrO4

Cr Na2CrO4 +V I

https://dl.doubtnut.com/l/_pp0k2h4zS8a1
https://dl.doubtnut.com/l/_2VWy1se7JxDr


Answer: A

Watch Video Solution

10. Assertion : The free gases  atom has six unpaired

electrons. 

Half-filled  orbital has greater stability.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Cr

' s'

https://dl.doubtnut.com/l/_2VWy1se7JxDr
https://dl.doubtnut.com/l/_4MrMOLrmbyAc


Answer: C

Watch Video Solution

11. Assertion:  salts are coloured whereas  salts

are white.  is less stable than 

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Tt3 + Ti4 +

Ti3 + Ti4 +

https://dl.doubtnut.com/l/_4MrMOLrmbyAc
https://dl.doubtnut.com/l/_GHxgPcNcdGRE


Answer: B

Watch Video Solution

12. Assertion: The metals of 4d and 5d greater enthalpies

of atomisation than the corresponding elements of the 3d

series. 

Reason: The metal-metal bond in 4d and 5d series are

stronger than those in the 3d series.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

https://dl.doubtnut.com/l/_GHxgPcNcdGRE
https://dl.doubtnut.com/l/_BYsIVBZ5wVYS


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

13. Assertion : Potassium dichromates gives deep red

vapours with concentrated  and sodium chloride. 


Reason : The reaction of sodium chloride with solid 

 and concentrated  produces chromyl

cholride.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

H2SO4

K2Cr2O7 H2SO4

https://dl.doubtnut.com/l/_BYsIVBZ5wVYS
https://dl.doubtnut.com/l/_MbNOFDo0kked


B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

14. Assertion : Manganese show a maximum oxidation

state of . 


Reason : Manganese has 5 electrons in the  subshell.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

+5

3d

https://dl.doubtnut.com/l/_MbNOFDo0kked
https://dl.doubtnut.com/l/_kkfNVTRlzdFZ


B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

15. Assertion:  is basic whereas  is acidic. 


Reason: Higher the oxidation state of a transition metal in

its oxide, greater is the acidic character.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

MnO Mn2O7

https://dl.doubtnut.com/l/_kkfNVTRlzdFZ
https://dl.doubtnut.com/l/_xGqMadkl8klf


B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

16. Assetion :  is used as an oxidizing in volumetric

analysis. 

Reason : The nubmer of uparied electrons in the following

gaseous inon: 

 and  are 4,3,2 and 1 respctively.

Ce3 +

Mn3 + , Cr3 + , V 3 + Ti3 +

https://dl.doubtnut.com/l/_xGqMadkl8klf
https://dl.doubtnut.com/l/_yhbNNkH8wFOJ


A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

17. Assertion : The number of unpaired electrons in the

following gaseous ions: 

 and  are 4,3,3 and 1 respcetively. 
Mn3 + , Cr3 + , V 3 + Ti3 +

https://dl.doubtnut.com/l/_yhbNNkH8wFOJ
https://dl.doubtnut.com/l/_2ObqjuPHL1aF


Reason :  is most stable in aqueous solution

amongst these ions

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

Cr3 +

https://dl.doubtnut.com/l/_2ObqjuPHL1aF


18. Assertion : Lanthanoids show a limited of ixidation

states wheres actanoids show a large number of oxidation

states. 

Reason : Energy gap between  and  subshells is

small wheras that between  and  subshell is large.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

4f, 5d 6s

5f, 6d 7s

https://dl.doubtnut.com/l/_2jRwGNEYytuR


Watch Video Solution

19. Assertion : The highest manganese fluroide is 

and the highest oxide is . 


Reason : In , each  is tetrahedrally surrounded

by  including  bridge.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

MnF4

Mn2O7

Mn2O7 Mn

O' s Mn − O − Mn

https://dl.doubtnut.com/l/_2jRwGNEYytuR
https://dl.doubtnut.com/l/_VkvMAif4yfbm


Answer: B

Watch Video Solution

20. Assertion: Mercury is not considered as a transition

element. 

Reason: Mercury is liquid.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

https://dl.doubtnut.com/l/_VkvMAif4yfbm
https://dl.doubtnut.com/l/_OkITuY6x62cy


Answer: B

Watch Video Solution

21. Assertion: In any transition series the magnetic

moment of  ions first decreases 

Reason: In a transition series, the number of unpaired

electrons first increases and then decreases.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

M 2 +

https://dl.doubtnut.com/l/_OkITuY6x62cy
https://dl.doubtnut.com/l/_uAKFdkfespI1


D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

22. Assertion : Silver intrate is reduced to silver by the

hydrides of 15th group element (except ) because 


Reason : They act as strong reducing agents.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

NH3

https://dl.doubtnut.com/l/_uAKFdkfespI1
https://dl.doubtnut.com/l/_DFrBCAjSJrxD


D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

23. Assertion :   


Reason : The reaction is carried to  thereby

shifting the equilibrium in forward direction.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

Ag2S + 4KCN 2K[Ag(CN)2] + K2s

K2SO4

https://dl.doubtnut.com/l/_DFrBCAjSJrxD
https://dl.doubtnut.com/l/_VC5957KBHYh9


D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

24. Assertion:  is used as primary standard in

volumetric analysis. 

Reason: It has a good solubility in water.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

K2Cr2O7

https://dl.doubtnut.com/l/_VC5957KBHYh9
https://dl.doubtnut.com/l/_1vP1mrb9wgVP


D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

25. Assertion : The value of enthaply of atomisation is

maximum at about the middle of each series. 

Reason : There is one uparied electron per d-orbital and

this results in stronger interatomic interaction.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

https://dl.doubtnut.com/l/_1vP1mrb9wgVP
https://dl.doubtnut.com/l/_ahQtFpRzk45s


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

26. Assertion: The spin only magnetic moment of  is

1.73 BM. 

Reason: The spin only magnetic momentum in (BM) is

equal to .

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

Sc3 +

√n(n + 2)

https://dl.doubtnut.com/l/_ahQtFpRzk45s
https://dl.doubtnut.com/l/_n4vINZQuyAyT


B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

27. Assertion : Hydrochloric acid is not used to acidify a

 solution in volumetric analysis of  and 

 because. 


Reason : Part of the oxygen produced from  and 

 is used up in oxidising  to .

KMnO4 Fe2 +

C2O
2 −
4

KMnO4

HCl HCl Cl2

https://dl.doubtnut.com/l/_n4vINZQuyAyT
https://dl.doubtnut.com/l/_itGrBnZL2NF4


A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

28. Assertion : Solution of  in water is intensely

electrons. 

Reason : Oxidation state of  in  is .

Na2CrO4

Cr Na2CrO4 +V I

https://dl.doubtnut.com/l/_itGrBnZL2NF4
https://dl.doubtnut.com/l/_E6EJik3MdtZD


A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

29. Assertion : Reaction of thionyl chloride with hydrated

ferric chloride yields anhydrous ferric chloride. 

Reason : Water of crystallisation present with ferric

https://dl.doubtnut.com/l/_E6EJik3MdtZD
https://dl.doubtnut.com/l/_onUvZMmYXRNa


chloride reacts with thionyl chloride to liberate  and 

 gases.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

HCl

SO2

https://dl.doubtnut.com/l/_onUvZMmYXRNa


30. Assertion : Hyydroquinone is used as a developer for

developing black and white photographic film. 

Reason : Hydroquinone reduces silver bromide to black

silver particles and an inverted images of the object is

produced on a cellulod film.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

https://dl.doubtnut.com/l/_2XfO4DTBhOTz


Watch Video Solution

31. Assertion : The order of atomic radii of  and 

is . 


Reason : The atomic radii of  series elements are larger

than those of  series elements but generally the radii of

 and  series elements are almost identical.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Cu, Ag Au

Cu < Ag ≈ Au

4d

3d

4d 5d

https://dl.doubtnut.com/l/_2XfO4DTBhOTz
https://dl.doubtnut.com/l/_UVV6vigWYzwv


Answer: B

Watch Video Solution

32. Assertion :  and  series elements have nearly same

atomic radius. 

Reason : Lanthanoid contraction.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

4d 5d

https://dl.doubtnut.com/l/_UVV6vigWYzwv
https://dl.doubtnut.com/l/_x8gTmlqMsPgI


Answer: A

Watch Video Solution

33. Assertion: Tungsten has very high melting point. 

Reason: Tungsten is a covalent compound.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

https://dl.doubtnut.com/l/_x8gTmlqMsPgI
https://dl.doubtnut.com/l/_tRCHeBfGW6bj


Answer: C

Watch Video Solution

34. Assertion: Mn atom loses ns electrons first during

ionisation as compared to  d electrons 


Reason: The effective nuclear charge experienced by

d electrons is greater than that by ns electrons.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

(n − 1)

(n − 1)

https://dl.doubtnut.com/l/_tRCHeBfGW6bj
https://dl.doubtnut.com/l/_2aJL808clr7c


D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

35. Assertion :  on heating to  losses

all the five  molecules and becomes anhydrous. 


Reason : All five  molecules are coordinated to the

central  ion.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

CuSO4.5H2O 250∘C

H2O

H2O

Cu2 +

https://dl.doubtnut.com/l/_2aJL808clr7c
https://dl.doubtnut.com/l/_BuAlyN5KpXV1


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

36. Assertion : Silver chloride dissolves in execss ammonia. 

Reason :  forms a soluble complex, 

with ammonia.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

AgCl [Ag(NH3)2]Cl

https://dl.doubtnut.com/l/_BuAlyN5KpXV1
https://dl.doubtnut.com/l/_M7rM2SMVII5T


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

37. Assertion :  is an acid anhydride. 


Reason:  is obtained as bright orange crystals by the

reaction of  with cold concentrated .

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

CrO3

CrO3

K2Cr2O7 H2SO4

https://dl.doubtnut.com/l/_M7rM2SMVII5T
https://dl.doubtnut.com/l/_JVyGwNoPl1DF


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

38. Assertion : Solid potassium dichromate gives greenish

yellow vapour with concentrated  and solid

ammonium chloride. 

Reason : The reaction of ammonium chloride with solide

 and concentrated  produces chromyl

chloride.

H2SO4

K2Cr2O7 H2XO4

https://dl.doubtnut.com/l/_JVyGwNoPl1DF
https://dl.doubtnut.com/l/_jaHbPu952sIk


A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

39. Assetion : Permanganate titrations is not carried out in

presence of hydrochloric acid. 

Reason : Hydrochloric acid is oxidised to chlorine.

https://dl.doubtnut.com/l/_jaHbPu952sIk
https://dl.doubtnut.com/l/_aTumewWr4tXH


A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

40. The free gaseous  atom has six unpaired electrons. 


Half-filled s-orbital has greater stability.

Cr

https://dl.doubtnut.com/l/_aTumewWr4tXH
https://dl.doubtnut.com/l/_IMLVfOMSpEOy


A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

41. Assertion :  has yellow colour due to charge

transfer. 

Reason :  ion is tetrahedral in shape.

K2CrO4

CrO
2 −
4

https://dl.doubtnut.com/l/_IMLVfOMSpEOy
https://dl.doubtnut.com/l/_1yV6M7bnKqqc


A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

42. Assetion : The green manganate is paramagnetic but

the pruple permanganate is diamagnetic in nature. 

https://dl.doubtnut.com/l/_1yV6M7bnKqqc
https://dl.doubtnut.com/l/_sPe9Tb4C7DbV


Aipmt Neet Questions

Reason :  contains on upaired electron while in 

 all electrons are paried.

A. If both assetion and reason are true and the reason

is the correct explanation of the assertion.

B. If both assertion and reason are ture but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

MnO
2 −
4

MnO
−
4

https://dl.doubtnut.com/l/_sPe9Tb4C7DbV


1. Copper sulphate solution reacts with  to give 


(a)  


(b)  


(c )  


(d)  .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KCN

Cu(CN)2

CuCN

K2[Cu(CN)4]

K3[Cu(CN)4]

Cu(CN)2

CuCN

K2[CuCN)4]

K3[Cu(CN)4]

https://dl.doubtnut.com/l/_zF9u79C2nJnf
https://dl.doubtnut.com/l/_4vnCJEf1FQPB


2.  gives  gas with  and  but not with 

 because

A.  is reduced in preference to 

B.  is weaker acid than  and 

C.  acts oxidising agent when reacts with 

D. In electrochemical series  is placed above the

hydrogen

Answer: B

Watch Video Solution

Zn H2 H2SO4 HCl

HNO3

NO2 H3O
−

HNO3 H2SO4 HCl

Zn HNO3

Zn

https://dl.doubtnut.com/l/_4vnCJEf1FQPB


3. The temperature of blast furnace to produce iron from

its ore  varies from  at the top of the furance

to about  at the bottom of the furance. The

reaction between the ore  and  at the lowest

temperature  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Fe2O3 500∘C

1900∘C

Fe2O3 CO

(~500∘C)

3Fe2O3 + CO → 2Fe3O4 + CO2

Fe2O3 + CO → 2FeO + CO2

Fe2O3 + 3C) → 2Fe + 3CO2

Fe2O3 + CO → 2Fe + CO2 + O2
1

2

https://dl.doubtnut.com/l/_SBrz5eFAvqOR
https://dl.doubtnut.com/l/_9hdvk7QW7OLY


4. The correct order of ionic radii  ,  ,  and 

 is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Y 3 + La3 + Eu3 +

Lu3 + (AT . No : Y = 39, La = 57, Eu = 63, Lu = 71)

Y 3 + < La3 + < Eu3 + < Lu3 +

Y 3 + < Lu3 + < Eu3 + < La3 +

Lu3 + < Eu3 + < La3 + < Y 3 +

La3 + < Eu3 + < Lu3 + < Y 3 +

5. Among the following series of transition metal ions the

one where all meal ions have  electronic configuration

is

3d2

https://dl.doubtnut.com/l/_9hdvk7QW7OLY
https://dl.doubtnut.com/l/_ZsnhCYVZY8C3


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ti3 + , V 2 + , Cr3 + , Mn4 +

Ti+ , V 4 + , Cr6 + , Mn7 +

Ti4 + , V 3 + , Cr2 + , Mn3 +

Ti2 + , V 3 + , Cr4 + , Mn5 +

6. Four successive members of the first row transition

elements are listed below with their atomic number.

Which one of them is expected to have the highest third

ionisation enthalpy ?

A. Vanadium (Z = 23)

https://dl.doubtnut.com/l/_ZsnhCYVZY8C3
https://dl.doubtnut.com/l/_4o72NI02IEXd


B. Chromium 

C. Manganese 

D. Iron 

Answer: C

Watch Video Solution

(Z = 24)

(Z = 25)

(Z = 26)

7. The aqueous solution containing which one of the

following ions will be colourless 

(Atomic number 

A. 

B. 

C. 

Sc = 21, Fe = 26, Ri = 22, Mn = 25)

Ti3 +

Mn2 +

Sc3 +

https://dl.doubtnut.com/l/_4o72NI02IEXd
https://dl.doubtnut.com/l/_WqmE0EOHjyM7


D. 

Answer: C

Watch Video Solution

Fe2 +

8. The main reason for larger number of oxidation state

exhibited by the actinides than the corresponding

lanthanides, is

A. more energy difference between  and 6 d-orbitals

than between  and -orbitals

B. lesser energy difference between  and -robitals

than between  and -orbitals

C. larger atmoic size of actinides than the lanthanides

5f

4f 5d

5f 6d

4f 5d

https://dl.doubtnut.com/l/_WqmE0EOHjyM7
https://dl.doubtnut.com/l/_UGvKZcHg8jx8


D. greater reactive nature of the actinides than the

lanthanides

Answer: B

Watch Video Solution

9. Which of the following pairs is coloured in aqueous

solution?

A. 

B. 

C. 

D. 

Sc3 + , Co2 +

Ni2 + , Cu+

Ni2 + , Ti3 +

Sc3 + , Ti3 +

https://dl.doubtnut.com/l/_UGvKZcHg8jx8
https://dl.doubtnut.com/l/_o5R3El55AIzI


Answer: C

Watch Video Solution

10. Which one of the elements with the following outer

orbital configuration may exhibit the larger number of

oxidation states ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3d2, 4s2

3d3, 4s2

3d5, 4s1

3d5, 4s2

https://dl.doubtnut.com/l/_o5R3El55AIzI
https://dl.doubtnut.com/l/_JATJQB1iPMRY


Watch Video Solution

11. which of the following electronts is present as the

impurity to the maximum extent in the pig iron?

A. Phosphorus

B. Manganese

C. Carban

D. Silicon

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_JATJQB1iPMRY
https://dl.doubtnut.com/l/_97MPHyPBWJm8


12. For the four successive transition elements (Cr, Mn, Fe,

and Co), the stability of  oxidation state will be there in

which of the following order ? 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+2

(At. Nos. Cr = 24, Mn = 25, Fe = 26, Co = 27)

Cr > Mn > Co > Fe

Mn > Fe > Cr > Co

Fe > Mn > Co > Cr

Co > Mn > Fe > Cr

https://dl.doubtnut.com/l/_XCM9HP4yTJqm


13. Identify the alloy containing a non metal as a

constitunt in it

A. Bell metal

B. Bronze

C. Invar

D. Steel

Answer: D

Watch Video Solution

14. Red precipitae is obtained when ethanol solution of

dimethylglyoxime is added to ammoniacal . WhichNi(II)

https://dl.doubtnut.com/l/_vJ5Ycz2rFjgm
https://dl.doubtnut.com/l/_AIX20axnDqRo


of the following statement is not true?

A. Red complex has a tetrahedral geometry

B. Complex has symmetrical -bonding

C. Red complex has a square planner geometry

D. Dimethylglyoxime functions as bidenate ligand

Answer: A

Watch Video Solution

H

15. Four successive members of the first series of

transition metals are listed below. For which one of the of

standard potential  value has a positive sign ?(E ∘
M 2 + /M)

https://dl.doubtnut.com/l/_AIX20axnDqRo
https://dl.doubtnut.com/l/_nR3qlW7WFCba


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Co = (Z = 27)

Ni(Z = 28)

Cu(Z = 29)

Fe(Z = 26)

16.  can be prepared from  as per the

reaction:  

The reaction can go the completion by removing 

ions by adding.

A. 

KMnO4 K2MnO4

OH ɵ

KOH

https://dl.doubtnut.com/l/_nR3qlW7WFCba
https://dl.doubtnut.com/l/_wDO0zFZMtQlS


B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

SO2

HCl

17. Which of the following statements about the

interstitial compounds is incorrect?

A. They retain metallic conductivity

B. They are much harder than the pure metal

https://dl.doubtnut.com/l/_wDO0zFZMtQlS
https://dl.doubtnut.com/l/_beZpMjsc5o1k


C. They have higher melting points than the pure

metal

D. They are chemcially recative

Answer: D

Watch Video Solution

18. The pair of compounds that can exist together is:

A. 

B. 

C. 

D. 

FeCl3, SnCl2

HgCl2, SnCl2

FeCl2, SnCl2

FeCl3, KI

https://dl.doubtnut.com/l/_beZpMjsc5o1k
https://dl.doubtnut.com/l/_PzipcYbuoCyN


Answer: C

Watch Video Solution

19. Magnetic moment  is shown by which of the

following ions?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2.83BM

Ti3 +

Ni2 +

Cr3 +

Mn2 +

https://dl.doubtnut.com/l/_PzipcYbuoCyN
https://dl.doubtnut.com/l/_tzQtl9F2aJLe


20. Reason of lanthanide contraction is

A. negligble sereening effect of f-orbital

B. increasing unuclear charge

C. decreasing nuclear charge

D. decreasing screening effect

Answer: A

Watch Video Solution

21. Because of lanthnoid contraction, which of the

following pairs of elements have nearly same atomic radii

? (Number in the parenthesis are atomic numbers)

https://dl.doubtnut.com/l/_suiKfAGx4Keh
https://dl.doubtnut.com/l/_hvIqdEKgu1ss


A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

Zr(40) Hf(72)

Zr(40) Ta(73)

Ti(22) Zr(40)

Zr(40) Nb(41)

22. Gadolinium belongsd to 4f series. It's atomic number is

64. which of the following is the correct electronic

configuration of gadolinium ?

A. 

B. 

[Xe]4f 75d16s2

[Xe]4f 65d26s2

https://dl.doubtnut.com/l/_hvIqdEKgu1ss
https://dl.doubtnut.com/l/_9OEqWuhdv6jF


C. 

D. 

Answer: A

Watch Video Solution

[Xe]4f 85d2

[Xe]4f 86s1

23. Assuming complete ionization, same moles of which of

the following compounds will require the least amount of

acidified  for complete oxidation ?

A. 

B. 

C.  is oxidised  and is reduced

D. 

KMnO4

FeC2O4

Fe(NO2)2

FeSO4 KMnO4

FeSO3

https://dl.doubtnut.com/l/_9OEqWuhdv6jF
https://dl.doubtnut.com/l/_wxE4wA40Uwsj


Answer: C

Watch Video Solution

24. Which is the correct order of increasing energy of the

listed orbitals in the atom of titanium ? (At. No. Z = 22)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3s3p3d4s

3s3p4s3d

3s4s3p3d

4s3s3p3d

https://dl.doubtnut.com/l/_wxE4wA40Uwsj
https://dl.doubtnut.com/l/_yLG2qYa8yg1s


25. Which one of the following statement is correct when

 is passed through acidified  solution?

A. Green  is formed.

B. The solution turns blue.

C. The solution is decolourized.

D.  is reduced

Answer: A

Watch Video Solution

SO2 K2Cr2O7

Cr2(SO4)3

SO2

26. The electronic configuration of Eu (Atomic No. 63), Gd

(Atomic No. 64) and Tb (Atomic No. 65) are:

https://dl.doubtnut.com/l/_Oszu9Rdtz9kl
https://dl.doubtnut.com/l/_AfqTbsKCNbXJ


A.  and 

B.  and 

C.  and 

D. 

Answer: A

Watch Video Solution

[Xe]4f 76s2, [Xe]4f 75d16s2 [Xe]f 96s2

[Xe]4f 76s2, [Xe]4f 86s2 [Xe]4f 85d16s2

[Xe]4f 65d16s2, [Xe]4f 86s2 [Xe]4f 85d16s2

[Xe]4f 85d16s2

27. Name the gas that can readily decolourise acidified

 solution:

A. 

B. 

KMnO4

SO2

NO2

https://dl.doubtnut.com/l/_AfqTbsKCNbXJ
https://dl.doubtnut.com/l/_X8QU3QNSmrlY


C. 

D. 

Answer: A

Watch Video Solution

P2O5

CO2

28.  and  both when dissolved in water containing

 ions the pair of species formed is:

A. 

B. 

C. 

D. 

HgCl2 I2

I −

HgI2, I −

HgI
2 −
4 , I −

3

Hg2I2, I −

HgI2, I −
3

https://dl.doubtnut.com/l/_X8QU3QNSmrlY
https://dl.doubtnut.com/l/_TpNQh6evPdpk


Answer: B

Watch Video Solution

29. The reason for greater range of oxidation state in

actinoids is attributed to:

A. actinoid contributed to:

B.  and  levels having comparable energies

C.  and  levels being close in energies

D. the radioactive nature of actionoids

Answer: B

Watch Video Solution

5f, 5d 7s

4f 5d

https://dl.doubtnut.com/l/_TpNQh6evPdpk
https://dl.doubtnut.com/l/_83mhc3sOd6et


30. Which of the following ions exhibits d-d transitions

and paramagnetism as well?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CrO
2 −
4

Cr2O
2 −
7

MnO
−
4

MnO
2 −
4

31. For the redox reaction 

 
MnO
ө

4 + C2O
2 −
4 + H ⊕ → Mn2 + + CO2 + H2O

https://dl.doubtnut.com/l/_MRPYuOac6TrB
https://dl.doubtnut.com/l/_xKCUsoGXZ8ox


Aiims Questions

the correct coefficients of the reactions for the balanced

reaction are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MnO
−
4 C2O

2 −
4 H +

16 5 2

MnO
−
4 C2O

2 −
4 H +

2 5 16

MnO
−
4 C2O

2 −
4 H +

2 16 5

MnO
−
4 C2O

2 −
4 H +

5 16 2

https://dl.doubtnut.com/l/_xKCUsoGXZ8ox


1. Which statement is true about the transitional

elements?

A. They exhibit diamagnetism

B. They exhibit inert pair effect

C. They do not form alloys

D. They show variable oxidatio states

Answer: D

Watch Video Solution

2. The test of of zone  can be done by

A. 

O3

Ag

https://dl.doubtnut.com/l/_nBE4I38bo0rh
https://dl.doubtnut.com/l/_UzuS4FjrMyeb


B. 

C. 

D. 

Answer: B

Watch Video Solution

Hg

Au

Cu

3. Which of the following electronic configuration is that

of a transitional element?

A. 

B. 

C. 

1s2, 2s2p6, 3s2p6d10, 4s2p2

1s2, 2s2p6d10, 4s2p1

1s2, 2s2p6, 3s2p6d2, 4s2

https://dl.doubtnut.com/l/_UzuS4FjrMyeb
https://dl.doubtnut.com/l/_L5DYloE8jDST


D. 

Answer: C

Watch Video Solution

1s2, 2s2p6, 3s2p6, 4s2

4. Lanthanides and actinides resemble in

A. electronic configuration

B. oxidation state

C. inoization erergy

D. formation of complexes

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_L5DYloE8jDST
https://dl.doubtnut.com/l/_vypSPkTL82BF


5. Which one of the following organisation's iron and steel

plant was built to use charcoal as a source of power, to

start with, but later switched over to hydroelectricity

A. The Tata Iron and steel company

B. The Indain iron and stell compaly

C. Mysore iron and steel Limited

D. Hindustan steel Limited

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vypSPkTL82BF
https://dl.doubtnut.com/l/_3lpiWRonvrNH


6. Among the following pairs of ions the lower oxidation

state in aqueous solution is more stable than the other in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Tl, Tl3 +

Cu+ , Cu2 +

Cr2 + , Cr3 +

V + , VO2 +

7. Which is mild oxidising agent?

A. Ag2O

https://dl.doubtnut.com/l/_u6ZgsbBDUZvZ
https://dl.doubtnut.com/l/_KZcIU0GMRNU3


B. 

C. 

D. 

Answer: A

Watch Video Solution

KMnO4

K2Cr2O7

Cl2

8. Nessleers reagent is

A. 

B. 

C. 

D. 

K2HgI4

K2HgI4 + KOH

K2HgI2 + KOH

K2HgI4 + Hg

https://dl.doubtnut.com/l/_KZcIU0GMRNU3
https://dl.doubtnut.com/l/_XR8ErZxtU7MW


Answer: B

Watch Video Solution

9. On adding excess of  solution to  solution,

the dark blue colour is due to

A. 

B. 

C. 

D. None of the above

Answer: A

Watch Video Solution

NH3 CuSO4

[Cu(CH3)4]
+ +

[Cu(NH3)2]
+ +

[Cu(NH3)] +

https://dl.doubtnut.com/l/_XR8ErZxtU7MW
https://dl.doubtnut.com/l/_S9TOJJ1Lw6hn


10. Which of the following compound is not coloured ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na2CuCl4

Na2CdCl4

K4Fe(CN)6

K3Fe(CN)6

11. The compound insoluble in water is

A. mercurous nitrate

https://dl.doubtnut.com/l/_yMXD1sxMJn9h
https://dl.doubtnut.com/l/_qJQpyMcYIj9X


B. mercuric nitrate

C. mercurous chloride

D. mercurous perchlorate

Answer: C

Watch Video Solution

12. Mond's process is used for

A. 

B. 

C. 

D. 

Ni

Al

Fe

Cu

https://dl.doubtnut.com/l/_qJQpyMcYIj9X
https://dl.doubtnut.com/l/_39nQJK4khotN


Answer: A

Watch Video Solution

13. Stainless steel is an alloy of

A. copper

B. nickel and chromium

C. Manganese

D. zine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_39nQJK4khotN
https://dl.doubtnut.com/l/_SGgrErnQnuQL
https://dl.doubtnut.com/l/_gCcUcshdHljE


14. Percentage of silver in German silver is

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

0 %

1 %

5 %

15. Brass in an ally of

A.  and 

B.  and 

Zn Sn

Zn Cu

https://dl.doubtnut.com/l/_gCcUcshdHljE
https://dl.doubtnut.com/l/_hEzwPvfEAI73


C.  and 

D.  and 

Answer: B

Watch Video Solution

Cu, Zn Sn

Cu Sn

16. Most stable oxidation state of iron is

A. 

B. 

C. 

D. 

Answer: B

+2

+3

−2

−3

https://dl.doubtnut.com/l/_hEzwPvfEAI73
https://dl.doubtnut.com/l/_aF6QhxmDPazE


Watch Video Solution

17.  is formed by reacting  with

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2 K2MnF6

SbF5

MnF3

KSvF6

MnF4

https://dl.doubtnut.com/l/_aF6QhxmDPazE
https://dl.doubtnut.com/l/_xxLDWTLoskyl


18. Copper sulphate solution reacts with  to give 


(a)  


(b)  


(c )  


(d)  .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KCN

Cu(CN)2

CuCN

K2[Cu(CN)4]

K3[Cu(CN)4]

Cu(CN)2

CuCN

K2[Cu(CN)4]

K3[Cu(CN)4]

https://dl.doubtnut.com/l/_iXMAMUCcyJqm
https://dl.doubtnut.com/l/_gvgI3oq9PDzq


19. If excess of  is added to  solution, it

forms blue coloured complex which is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH4OH CuSO4

Cu(NH3)4SO4

Cu(NH3)2SO4

Cu(NH4)4SO4

Cu(NH4)2SO4

20. When metallic copper comes in contact with mositure,

a green powdery/pasty coating can be seen over it. This is

chemically known as

https://dl.doubtnut.com/l/_gvgI3oq9PDzq
https://dl.doubtnut.com/l/_sFhrwaqBwe0c


A. copper sulphide-copper carbonate

B. copper carbonate-copper sulphate

C. copper carbonate-copper hydroxide

D. copper Sulphate-copper sulphide

Answer: C

Watch Video Solution

21. Which of the following does not react with ?

A. 

B. 

C. 

AgCl

NaNO3

Na2CO3

Na2S2O3

https://dl.doubtnut.com/l/_sFhrwaqBwe0c
https://dl.doubtnut.com/l/_9klr42ESuByL


D. 

Answer: A

Watch Video Solution

NH4OH

22. For making  from , Which of the following is

used?

A. 

B. 

C. 

D. 

Answer: A

Ag AgNO3

PH3

AsH3

NA2CO3

NH3

https://dl.doubtnut.com/l/_9klr42ESuByL
https://dl.doubtnut.com/l/_k8mp8XMfsKhe


Watch Video Solution

23.  when heated with  at  gives a

compound. Identify the compound

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ZnO BaO 1100∘C

BaZnO2

BaO2 + Zn

BaCdO2

Ba + ZnO2

https://dl.doubtnut.com/l/_k8mp8XMfsKhe
https://dl.doubtnut.com/l/_wvop1AS8y9t4


24. Which of the following metals is obtained by leaching

out process using a solution of  and then

precipitating the metal by addition of zinc dust?

A. Copper

B. Silver

C. Nickel

D. Iron

Answer: B

Watch Video Solution

NaCN

https://dl.doubtnut.com/l/_bZTuj7KgjtLC


25. Bessemer converter is used for 

Atomic nos, 

A. steel

B. wrought iron

C. pig iron

D. cast iron

Answer: C

Watch Video Solution

Mn = 25, Fe = 26, Co = 27, Ni = 28

26. Conectrated aqueous sodium hydroxide can be a

separated mixture of

https://dl.doubtnut.com/l/_M28Id3BmywiJ
https://dl.doubtnut.com/l/_GssecYtD0E06


A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

Al3 + Sn2 +

Al3 + Fe3 +

Al3 + Zn2 +

Zn2 + Pb2 +

27. Which of the following oxoacide of phosphorus is a

reducing agent and a monobasic acid as well?

A. 

B. 

H3P2O3

HPO3

https://dl.doubtnut.com/l/_GssecYtD0E06
https://dl.doubtnut.com/l/_R2JzDWnDGb23


C. 

D. 

Answer: D

Watch Video Solution

H3PO3

H3PO2

28. Among the following the compound that is both

paramagnetic and coloured is

A. 

B. 

C. 

D. 

K2Cr2O7

(NH4)2[TiCl6]

VOSO4

K3[Cu(CN)4]

https://dl.doubtnut.com/l/_R2JzDWnDGb23
https://dl.doubtnut.com/l/_UcXxMN8ppmOG


Answer: C

Watch Video Solution

29. What is  name of the following ? 

A. 4-Bromo-2-phenylpent-2-ene

B. 4-Bromo-2-phenylpent-4-ene

C. 4-Bromo-2-phenylpent-2-ene

IUPAC

https://dl.doubtnut.com/l/_UcXxMN8ppmOG
https://dl.doubtnut.com/l/_rXlnAwfJ6gzG


D. 2-Bromo-4-phenylpent-3-ene

Answer: A

Watch Video Solution

30. Which is least stable in aqueous medium

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Fe2 +

CO+ 2

Ni+ 2

Mn+ 2

https://dl.doubtnut.com/l/_rXlnAwfJ6gzG
https://dl.doubtnut.com/l/_pas3j2mmSKBH


Assertion Reasoning Questions

31. Which of the following can be reduce easily

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

V (CO)6

Mo(CO)6

Ni+ 2

Mn+ 2

https://dl.doubtnut.com/l/_pas3j2mmSKBH
https://dl.doubtnut.com/l/_TLu0RBDafMDS


1. Assertion :  and  exist together in an

aqueous solution. 

Reason :  is a strong reducing agent.

A. If both the assertion and reason are ture but the

reason is a true explanation of the assertion.

B. If both the assertion and reason are true but the

reason is not the correct explanation of the

assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

HgCl2 SnCl2

SnCl2

https://dl.doubtnut.com/l/_6sYsTfVlYykj


2. Assertion : The aqueous solution of  is basic in

nature. 

Reason : The colour changes due to the oxidation of

potassium chromate.

A. If both the assertion and reason are ture but the

reason is a true explanation of the assertion.

B. If both the assertion and reason are true but the

reason is not the correct explanation of the

assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

FeCl3

https://dl.doubtnut.com/l/_6sYsTfVlYykj
https://dl.doubtnut.com/l/_mUBe3fxE7j7d


Answer: D

Watch Video Solution

3. Assertion: If a strong acid is added to a solution of

potassium chromate it changes its colour from yellow to

orange. 

Reason: The colour change is due to the oxidation of

potassium chromate.

A. If both the assertion and reason are ture but the

reason is a true explanation of the assertion.

B. If both the assertion and reason are true but the

reason is not the correct explanation of the

https://dl.doubtnut.com/l/_mUBe3fxE7j7d
https://dl.doubtnut.com/l/_UoCRahEOl7v0


assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

4. Assertion :  produces a black stain on the skin. 


Reason :  is a dye.

A. If both the assertion and reason are ture but the

reason is a true explanation of the assertion.

AgNO3

AgNO3

https://dl.doubtnut.com/l/_UoCRahEOl7v0
https://dl.doubtnut.com/l/_6XlrJ2taDWDE


B. If both the assertion and reason are true but the

reason is not the correct explanation of the

assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

5. Assertion :  (aq) is not a primary standard. 


Reason : In aqueous medium,  ions are not

present.

FeSO4

Fe2 + +

https://dl.doubtnut.com/l/_6XlrJ2taDWDE
https://dl.doubtnut.com/l/_9YIeJcCdO8xy


A. If both the assertion and reason are ture but the

reason is a true explanation of the assertion.

B. If both the assertion and reason are true but the

reason is not the correct explanation of the

assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

6. Assertion :  is paramagnetic at room

temperature and becomes ferromagnetic at  


Fe3O4

850K

https://dl.doubtnut.com/l/_9YIeJcCdO8xy
https://dl.doubtnut.com/l/_jeFWIHv1prD8


Reason : The randomization of spin takes place with

temperature.

A. If both the assertion and reason are ture but the

reason is a true explanation of the assertion.

B. If both the assertion and reason are true but the

reason is not the correct explanation of the

assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jeFWIHv1prD8
https://dl.doubtnut.com/l/_qjpaf1ypoT0W


7. Assertion: In  ion, all the  bond lengths

are equal. 

Reason: In  ion all the  bond angles

are equal.

A. If both the assertion and reason are ture but the

reason is a true explanation of the assertion.

B. If both the assertion and reason are true but the

reason is not the correct explanation of the

assertion

C. If the assertion is true but reason is false

D. If assertion is false but reason is true.

Answer: D

h id l i

Cr2O
2 −
7 Cr − O

Cr2O
2 −
7 O − Cr − O

https://dl.doubtnut.com/l/_qjpaf1ypoT0W


Section D Chapter End Test

Watch Video Solution

1. In a reaction, the ferrous  iron is oxidised to

ferric  ion. The equivalent weight of the ion in

the avbove reaction is equal to

A. Half of the amtoic weight

B.  of the atomic weight

C. The atomic weight

D. Twice the atomic weight

Answer: C

Watch Video Solution

(Fe+ + )

(FE + + )

1/5

https://dl.doubtnut.com/l/_qjpaf1ypoT0W
https://dl.doubtnut.com/l/_GeICbOSOo4pN


Watch Video Solution

2. One of the following metals froms a volatile corbony1

compound and this property is taken advantage of its

extraction. This metal is

A. Iron

B. Nickel

C. Cobalt

D. Tungsten

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GeICbOSOo4pN
https://dl.doubtnut.com/l/_r0h5YH6Bt9gf


3. The main reason for not using a mercury electrolytic cell

in  manufacture is that

A.  is toxic

B.  is a liquid

C.  has a high vapour pressrue

D.  is a good conductor of electricity

Answer: D

Watch Video Solution

NaOH

Hg

Hg

Hg

Hg

4. Which of the following statements is not correct about

the electronic configuration of gaseou chromium atom

https://dl.doubtnut.com/l/_KfbDq3LD0lmR
https://dl.doubtnut.com/l/_GpXlS3YRRroG


A. It has 5 electrons in  and one electron in 

orbitals

B. The principal quantum number of its valence

electrons are  and 

C. It has 6 electrons in  orbital

D. Its valance electrons have quantum number  0

and 2

Answer: C

Watch Video Solution

3d 4s

3 4

3d

' I'

5.  and  belong to same group, they differ in many

of their properties. The property that is shared by both is

Zn Hg

https://dl.doubtnut.com/l/_GpXlS3YRRroG
https://dl.doubtnut.com/l/_k6LnbuC3Jy2q


A. They form oxide readily

B. They react with steam readily

C. They react with out concentrated sulphuric acid

D. They react with hot sodium hydroxide

Answer: A

Watch Video Solution

6. Which one of the following ionic species will not impart

colour to an equeous solution?

A. 

B. 

Ti4 +

Cu+

https://dl.doubtnut.com/l/_k6LnbuC3Jy2q
https://dl.doubtnut.com/l/_16hw8ICp4wxB


C. 

D. 

Answer: D

Watch Video Solution

Zn2 +

Cr3 +

7. The  metal ions form coloured compounds because

the energy corresponding to the following lies in the

visible range of electromagnetic spectrum

A. Free energy change of complex formation by 

metal ions

B. d-d transitions of  electrons

C. Heat of hydration of  metal ions

3d

3d

3d

3d

https://dl.doubtnut.com/l/_16hw8ICp4wxB
https://dl.doubtnut.com/l/_52WoZBbEOr4B


D. Ionisation energy of  metal ions

Answer: B

Watch Video Solution

3d

8. Identify the transition element

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s2, 2s2, 2p6, 3s2, 3p6, 4s2

1s2, 2s2, 2p6, 3s2, 3p6, 3d24s2

1s2, 2s2, 2p6, 3s2, 3p6, 3d104s24p2

1s2, 2s2, 2p6, 3s2, 3p6, 3d104s24p1

https://dl.doubtnut.com/l/_52WoZBbEOr4B
https://dl.doubtnut.com/l/_vYtSpJdVpx0b


9. Potassium permanganate acts as an oxidant in neutral,

alkaline as well as acidic media. The final product obtained

from it in three condition are respectively:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO2, MnO2, Mn2 +

MnO2 −
2 , Mn3 +Mn2 +

MnO2, MnO
2 −
4 , Mn3 +

MnO, MnO4, Mn2 +

https://dl.doubtnut.com/l/_vYtSpJdVpx0b
https://dl.doubtnut.com/l/_XEEZMpUPEITC


10. In acidic medium potassium dichromate acts as on

oxidant according to the equation, 

. What is the

equivalent weight of ? (mol. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr2O + 14H + + 6e− → 2Cr3 + + 7H2O

K2Cr2O7 Wt. = M)

M

M /2

M /3

M /6

https://dl.doubtnut.com/l/_O5UeZyleQjAl


11.  dissolves in a solution of  but not in water

because

A.  is a better solvent then 

B.  forms a complex ion with 

C.  is a stronger base than 

D. The dipole moment of water is higher than 

Answer: B

Watch Video Solution

AgCl NH3

NH3 H2O

Ag+ NH3

NH3 H2O

NH3

12. Verdigris is

A. Basic copper acetate

https://dl.doubtnut.com/l/_mJ0fkKCxonZO
https://dl.doubtnut.com/l/_mhizYaHEpYIu


B. Basic lead accetate

C. Basic lead

D. None of these

Answer: A

Watch Video Solution

13. Light green crystals of ferrous sulphate lose water

molecules and turn brown on exposure to air. This is due

to its oxidation to

A. 

B. 

C. 

Fe2O3

Fe2O3. H2O

Fe(OH)SO4

https://dl.doubtnut.com/l/_mhizYaHEpYIu
https://dl.doubtnut.com/l/_EyP3L05PTIqo


D. 

Answer: C

Watch Video Solution

Fe2O3 + FeO

14. Among  and  (At.

No. , the

colourless species are -

A.  and 

B.  and 

C.  and 

D. , and 

TiF 2 −
6 , CoF 3 −

6 , Cu2C12 NiC12 −
4

Ti = 22, Co = 27, Cu = 29, Ni = 28)

CoF 3 −
6 NiCl

2 −
4

TiF 2 −
6 CoF 3 −

6

Cu2Cl2 NiCl
2 −
4

TiF 2 −
6 Cu2Cl2

https://dl.doubtnut.com/l/_EyP3L05PTIqo
https://dl.doubtnut.com/l/_ZcvOQ4X9ukUK


Answer: D

Watch Video Solution

15. Potassium permanganate works as oxidising agent

both in acidic and basic medium. In bot state product

obtained by  is respectively

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

KMnO4

MnO−
2 Mn3 +

Mn3 + Mn2 +

Mn2 + MnO2

MnO2 Mn2 +

https://dl.doubtnut.com/l/_ZcvOQ4X9ukUK
https://dl.doubtnut.com/l/_DRG3GUI9sVg2


Watch Video Solution

16. Which method of parification is represented by the

following equation ?

A. Cupellation

B. van Arkel process

C. Electrolytic refining

D. Zone refining

Answer: B

Watch Video Solution

Ti(s) + 2I ⋅ (2)(g) → TiI4(g) → Ti(s) + 2I2(g)

https://dl.doubtnut.com/l/_DRG3GUI9sVg2
https://dl.doubtnut.com/l/_WVo3Sp4o9nXP


17. Which of the following sulphides when heated strongly

in air gives the corresponding metal?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2S

HgS

Fe2S3

FeS

18. Guignet's green is known as

A. Cr2O32H2O

https://dl.doubtnut.com/l/_0f68Tm0PzT0d
https://dl.doubtnut.com/l/_P6pKNjsF4lj7


B. 

C. 

D. 

Answer: A

Watch Video Solution

FeO3. 2H2O

Cu2O3

FeCO3. Cr2O3

19. Excess of  reacts with  solution and 

solution is added to it. Which of the following statements

in incorrect for the reaction?

A.  is oxidised

B.  formed

C.  is formed

KI CuSO4 Na2SO3

Na2S2O3

Cul2

Cu2I2

https://dl.doubtnut.com/l/_P6pKNjsF4lj7
https://dl.doubtnut.com/l/_6HIRK4Cgvjpc


D. Evolved  is reduced

Answer: B

Watch Video Solution

I2

20. When concentrated sulphuric acid is added slowly to a

solution of ferrous sulphate containing nitrate ion, a

brown colour ring is formed. The compositionn of the ring

is

A. 

B. 

C. 

D. None of these

[Fe(H2O2)5NO]SO4

FeSO4. NO2

Fe[H2O)5](NO3)2

https://dl.doubtnut.com/l/_6HIRK4Cgvjpc
https://dl.doubtnut.com/l/_ndsJcGj91Nut


Answer: A

Watch Video Solution

21. Railway wagon axles are made by heating rods of iron

embedded in charcoal powerder. The process is known as

A. Case hardening

B. Sherardizing

C. Annelaing

D. Tempering

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ndsJcGj91Nut
https://dl.doubtnut.com/l/_kgnX0MAuO9qo


22. A blue colouration is not obtained when

A. Ammonium hydroxide dissolves in copper sulphate

B. copper sulphate solution reacts with 

C. Ferric chloride reacts with sodium ferrocyanide

D. Anhydrous  is dissolved in water

Answer: B

Watch Video Solution

K4[Fe(CN)6]

CuSO4

23. General configuration of outermost and penultimate

shell is . If  and 

 then no. of protons in the nucleus will be

(n − 1)s2(n − 1)p6(n − 1)dxns2 n = 4

x = 5

https://dl.doubtnut.com/l/_hW92aNznsZJN
https://dl.doubtnut.com/l/_QQ9fWz2VNEtK


A. 

B. 

C. 25

D. 30

Answer: C

Watch Video Solution

> 25

< 24

24.  reacts with ferrous ammonium sulphate

according to the equation

,

here  of  is equivalent to

A.  of 

KMnO4

MnO
−
4 + 5Fe2 + + 8H + → Mn2 + + 5Fe3 + + 4H2O

10ml 0.1MKMnO4

20ml 0.1mFeSO4

https://dl.doubtnut.com/l/_QQ9fWz2VNEtK
https://dl.doubtnut.com/l/_XAmkwVhgkkGB


B.  of 

C.  of 

D.  of 

Answer: D

Watch Video Solution

30ml 0.1MFeSO4

40ml 0.1MFeSO4

50ml 0.1MFeSO4

25. In nitroprusside ion, the iron and  exist as 

and  rather than  and . These forms can be

differentiated by

A. Estimating the conectration of iron

B. Measuring the concentration of 

C. Measuing the solid state magnetic moment

NO Fe(II)

NO+ FeIII NO

CN −

https://dl.doubtnut.com/l/_XAmkwVhgkkGB
https://dl.doubtnut.com/l/_dPB1FUiVnRHQ


D. Thermally decomposing the compound

Answer: C

Watch Video Solution

26. The number of mole of  that will be needed to

react completely with one mole of ferrous oxalate in acidic

solution is:

A. 

B. 

C. 

D. 1

KMnO4

3/5

2/5

4/5

https://dl.doubtnut.com/l/_dPB1FUiVnRHQ
https://dl.doubtnut.com/l/_5uQDu3UzaBpQ


Answer: A

Watch Video Solution

27. Out of the all known elements, the percentage of

transitional elements is approximately

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30 %

50 %

60 %

75 %

https://dl.doubtnut.com/l/_5uQDu3UzaBpQ
https://dl.doubtnut.com/l/_cn9dY39xzr0P


28. Assetion : Permanganate titrations is not carried out in

presence of hydrochloric acid. 

Reason : Hydrochloric acid is oxidised to chlorine.

A. If both assertion and reason are true and reason is

the correct explanation of the assertion.

B. If both assertion and reason are ture and reason is

not the correct explanationof the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_j7Nv8j8bSNGq


29. Assertion :  do not exist but 

 exist. 


Reason :  having highest oxidising power whereas 

having least oxidising power among halogens.

A. If both assertion and reason are true and reason is

the correct explanation of the assertion.

B. If both assertion and reason are ture and reason is

not the correct explanationof the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

FeI3, CuI2, PbI4

FeF3, CuF2, PbF4

F2 I2

https://dl.doubtnut.com/l/_MDNwlrGOg12a


30. Assertion :  on heating to  losses

all the five  molecules and becomes anhydrous. 


Reason : All five  molecules are coordinated to the

central  ion.

A. If both assertion and reason are true and reason is

the correct explanation of the assertion.

B. If both assertion and reason are ture and reason is

not the correct explanationof the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

CuSO4.5H2O 250∘C

H2O

H2O

Cu2 +

https://dl.doubtnut.com/l/_MDNwlrGOg12a
https://dl.doubtnut.com/l/_tgiAzcDGm2cJ


Watch Video Solution

https://dl.doubtnut.com/l/_tgiAzcDGm2cJ

